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INSTRUCTIONS TO THE CANDIDATES
(Read the Instructions carefully before Answering)
Separate Optical Mark Reader (OMR) Answer Sheet is supplied to veou along with Question
Paper Booklet. Please read and follow the instructions on the OMR Sheet for marking the responses
and also the required data.
Candidates should write the Hall Ticket Number only in the space provided on this page and
the OMR Sheet. Do not Wnite the Hall ticket number anywhere else

Immediately on opening the Question Paper Booklet by tearing off the paper seal please
check for (i) The same booklet code (A'B/C/D) on cach page, (ii) Serial number of the
questions (1—160), (iii) The number of pages and (iv) Correct Printing. In case of any defect,
please report to the invigilator and ask for replacement with the same booklet code within five
minutes from the commencement of the test.

Electronic gadgets like Cell Phone, Pager, Calculator, Electronic watches and Mathematical/Log
Tables are not permitted into the examination hall,

Darken the appropriate circles of 1, 2, 3 ¢r 4 in the OMR sheet corresponding to correct or the
most appropriate answer 10 the concerned question number in the sheet. Darkening of more than
one circle against any question automatically gets invalidated.

Rough work should be done only in the space provided for this purpose in the Question Paper Booklet.
Once the candidate enters the Examination Hall, he/she shall not be permitted to leave the Hall
till the end of the Examination.

Ensure that the Invigilator puts his‘her signature in the space provided on Question Paper Booklet
and the OMR Answer Sheet. Candidate should sign in the space provided on the OMR Answer
Sheet and filled in application form.

The candidate should write the Question Paper Booklet number, OMR Answer Sheet number,
sign in the space provided in the Nominal Rolls and affix the left hand thumb impression in the
nominal rolls and filled in application form.

Return the OMR Answer Sheet to the Invigilator before leaving the examination hall. Failure 1o
return the OMR is liable for criminal action. The Question Paper Booklet shall be taken away by
the candidate and should be preserved till the declaration of results.

Filled-in application form shall be submitted 10 the invigilator in the examination hall. In case of

SC/ST candidates attested copy of Caste Centificate should also be enclosed along with filled-in
application form.




Lime : 3 Hours & Murks : 160

lnstructions ;

(1)

(11)

Each question carries one mark.
(e l_'.':—!lf.; 2.5 :mﬂ.:ner So i,
Choose the correct or most appropriate answer from the given options to the following questions

and darken, with blue/black ball point pen the corres ing digit 1, 2, 3 or 4 in the circle
pertaining (o the question number concemned in the OMR Answer Sheet. separately supplied o

you.
BHD adyS (98 (DA 23gn8S 1O BOTHS HIPPISLS I5ED oD
Do w03 1, 2, 3 TF 4 I%hor ad)ds OMR J3ngd dgsns' [dd)H
Ro80do0S Doggho DAED wr/arl w8 Fonod DI HETrACD DosSTH.

l.

BOTANY
In Bentham and Hooker's system of classification, the su‘b-chm Polypetalac and Gumopetalac
have the cohorts in the ratio of

TogSs, el $880m 35596, FODED HOWD MIP DT aBSGAS &
Bod D08 §'5 o £O nuﬂ‘u:: &>

(1) 32 (2) 1: 322 4) 2:3

2. In which of the following plants, pollen is reiused before the stigma becomes receptive in
the same flower 7
(1) Solanmum (2) Alliwm (3) Colchicum (4) Datura
uf Phyos'd Sevfo DEIEND 58 3508 ed VRJeSN PS8 ddde
sS40, & (808 BoHes’ dIsS" D07
(1) Dords (2) ©Das Sy (3) =D3y55; (4) &858

3. Chromosome number in the endosperm cell of plant ‘A’ and in the root apical meristem cell
of plant ‘B* together cqual the chromosome number in the shoot apical meristem cell of
Apple. Plants A and B respectively are
(1) Rice, Maize (2) Maize, Haplopappus
(3) Rice, Potato (4) Rice, Haplopappus
‘A’ By woRdd 8 Enod®d (faratswe muugmnm ‘B’ Swsy I8 e
Dyva Hﬂﬁ*ﬁﬂtﬁ‘ﬂ%ﬁa S‘Erﬂ'i’mu Popg SO DS (D50d w(A Dyruginene
ﬁmunﬂaa gt aratsno ﬁuuss‘.: DarSom anmnﬂ A Sdcn B En!&m S&B
(1) 30, 3nE, 8%y (2) S dS)y, SHFFIS
(3) 50, pomrE¥oD (4) 58, SEFPEH
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4. There are 20% Adenincs among the bases in a DNA fragment measuring 6.8 am in length.
The number of pentoses, nitrogen base pairs, phosphate groups and hydrogen bands in this
DNA fragment are respectively
68 nm 5% Ko o¥ DNA podSos™) powd' 20% wdd5e Fof). & DNA
podS0d'Y Dod'ho, HEEd Y wdwm, FH T Do du&:ﬂ:: e
nogre Soggan SGJM (Q/ 5\

(1) 40,20, 40, 52 (2) 52,20,20,40 (3) 40, 52, 40, zﬂu.,-f..j_(_j) 20, 40, 52, 40

5. Match the following lists

List-1 List-11 #
(A) G, phase (1) Replication of DINA
(B) S phase (II) Quicscent stage =
(C) G, phase (IN) Condensation of chmmud;n

G, phase (IV) Protein synthesis

(V) Interval betweei mitosis and initiation of DNA replication

& 200 wrDerod u8S8S08 )

Dol ardo-11
(A) @, &% (I DNA 2248
(B) S &% (I) =ossy
(C) G, &4 (111) E‘fﬂ'ﬂﬁ Soormo

- (D) G, &4 av)- {ib‘dfs vodam
(V ] p:.rah Jfudh, DNA (5343 wdoprll S8y omidd

The correct answer is
20 DOTHH DTSV

(A) B ©) (D)
(1) (V) (s am  av)
2) Iy V) @ an
G) vy -av O @
@ m @O avy a
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6. Match the following lists

Last-] List-11

(A) Golgl apparamus (I Conversion of lipids 1o carbohydrates
(B) Glyoxysomes (IIY Catabolism of long chain fatty acids
(C) Peroxisomes (HI) Formation of glycoproteins and glycolipids

(D) Endoplasmic reticulum. (IV) Synthesis of lipids
(V) Osmoregulation
6 808 wDood wddddod

Do a~Do-11
(A) 9 uﬂSdu () D%lod :'B‘*}‘h‘ﬁﬁmrr ﬁ:‘d:‘)h
(B) ﬁﬂﬁa (1) ﬁ fyose rd wire b«D..);.':)_ (Bab
(€) .:u'!} 5:::: (11T) g PSS, E'Q'.'Qﬁﬂﬁ Aok
(D) woddd Ehgeroo (IV) 9%50 m‘-lam |

(V) [SDB8m Stge Qtﬁ:ng_ﬁﬂ
The correct answer is
w0 DOOHN DIreTHIn
A) (B (€C) (M)
(L an am v M
(2) (IvV) (V) (M 5
(3) (v) @av) (np (I
@ mn M an [av)

7. Which one¢ of the fnllmvmg nhmmn is nol fnund in transverse section of mnnnml stem?

(1) Starch sheath -~ (2) Sclerenchymatous bundle sheath
[3! Lysigenous cavity ‘- (4) Sclerenchymatous hypodermis
& (Bo8 oo’ O ofma JEsehusodo © 888 SRDONE?

(1) 908 & {2] d)ydfmuroding Pouy) wd
(3) vddsed HTdo y 4) S)dSmurodnd viiyd o

8. A 1axon is observed. Himgirl variety which is resistant 1o hill bunt disease belongs to this
taxon, In this taxon, pollen grains lose viability within 30 minutes of their release from

anthers. The taxon belongs 1o the order

(1) Poales « (@) Sspindales  (3) Polemoniales +(4) -Rosales

a8 G575 D0400¥do w0N0d. W d wul s H8G gEsH St SN0
880 & & S8 BokHdiod. & RSt SoviBmPHen 30 e oD DRSS
30 D3vres' S 45 InosE 780 5" yeon. 6 rE)S & (FSrR8 Vodhéod

(1) &5H05 2) %305  (3) 03~05H05 (4) S5
Rough Work
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9. ldentify the wrong combination .
(1) Marchantia — Pseudo-elaters (2) Dryopreris — Rhizome
(3) Cycas — Coralloid roots (4) Folvox — Colonial form
5050 Be¥doPds HdoSed .
(1) Sromolichr  ud 8 atble 2) (SHErDES - 5y
(3) 25 - Pavy I @) o) - HT0F4 drdo
10. Match the following lists
List-1 List-11
(A) Micrographia (I) Skoog - ¢
(B) Technique of plant tissue culture (I) Bessey |©-
(C) Phylogenetic classification (111) Joseph. Priestly
(D) Absorption of toxic gases by plants  (IV) Robert. Hooke
(V) Stephan Hales
& (Lol ardetod: a8 SHhdde
ool Dol
(A) DEYmHalr ) B A
(B) 3n8 Snave 553 558 () Ty
(C) ¢ D55 H685w (D %% (0%
(D) 3w DAYYos (IV) ool S
FooPHos F*hosSdo (V) 998 )
The correct match is ‘-
28 H0EHS $f8oH Y
(A) (B) (©) (D)
() (I (I (vV) {4y
(2) (V) ((Un by
G am @O Javrv)
4) (V) (hp dn - (Im
1l Trichodesmium erythrium which gives colour 10 red sea is a
(1) Hrown alga - (2) Green alga
(3) Blue green alga (4) Red alga
J[8 HIBEPAE SoMds SedDh BeE'atbydbo JO@oho ul
(1) 5'&:d: 8¢ Aboo (2) w%d3y Adoo
(3) 28 uHdIy FSe0 (4) AP S¢ ASwo
Rough Work
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12. Identify the characters of mustard, chilli, cauliflower respectively
(1) Axile placentation, tricarpellary gynoecium, sessile flowers
(2) Inferior ovary, zygomorphic flower, corymb

(3) Wi}uriald phyllotaxy, l.ll'.lli.ﬂ-ﬂl.l]ﬂ.‘l' ovary, production of flowers at the same node of the
peduncle

(4) Hypogynous flower, umlm:u!u: ovary, corymb

ud, NS, OBI6S'N cfarod SHBM KHBodod

(1) %0¥ wodargho, (Bhos¥ wodf'¥o, S)od & By

(2) J&0y woordoio, SPEE QS ded PUAyo, DD,

(3) S|fah HE IargHo, JEDoEHS woardaho, .,;;.ﬂa Davgndyod oE oD
N8 Waryo oéy8 adddo

(4) und““r:‘;’sfgfi Dhajo, JEDodsnd woarfae, S8

13, Four plants (A, B, C, D) are observed. “A’ has cartilagenous endocarp in the fruit and fleshy
thalamus as chief edible part. ‘B’ has caryopsis fruit with endosperm as the chief edible
part. In *C’, each carpel of apocarpous gynoecium develops into a fruitlet and its mesocarp
and endocarp are the chief edible parts, ‘D" has syconus fruit with edible fleshy peduncle,
To which families A, B, C and D belong ‘respectively 7
(1) Rosacese, Poaceae, Annonaceae, Moracede

(2) Annonaceae, Rosaceae, Moraceas, Rutaceae
(3) Solanaceae, Cucurbitaceae, Anacardiaceae, Moraceae
(4) Rutaceae, Anacardiaceae, Rusaneae Fabaceae

Tt Bngress (A, B,C D) 58200840 28008, ‘A’ K8m > riom sod
wodHolsSos* aod ::u'-ﬂl 0080 EHFOS HrydT D :{u:qag B 8T o
$0A dotnod. ‘B’ wohd¥ Ko (HadBod a3 qr-ﬁ'nn‘ dmﬁ ¥5% Dasdy £0A
40000, ‘C’ ¢* vdoding wods Hod'd PBvVEYo uE DD EDERETT
aotnod. s g $u§51:$-::.. wodrHoESSo DS S 81 rmraim dodron.
D’ Bk, 3F fodhe Ay DrghSyodod sod HEUS Hewdy £DA sokuod.
A, B, C $:80%: Doo $&%5m @ Hévowrnd Todizron?

(1) &'E%, 20H%, e, TS

(2) oF3%; &E%, IrdD, HrED

(3) FoFh, HLOH BN, wI57TIH, BT

(@) orE%, w3s500hbh, 6'8h, UL

Rough Work
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14. Match the following lists

List-1 List-11
(A) Alsionia (I) Roots at lower nodes of the stem
(B) Ananus sativus (I Leaflets are attached at & common point in the leaf
() Sugarcane (IIT) Swaollen placenta < N
(D) Bombax ceiba (IV) More than two leaves at every node

(V) Underground lateral branches pmdumng aerial leafy shoots

& (808 devds ud w8 Scd

Dol aDo1l AN
(A) wdFlcir () srodo TWeE) Lﬁmﬂp Em:‘.’e}ﬁ 58 3%
(B) oarah DPIN (I Hgod* ::Lﬁrw m‘éﬁ‘h wooifio Wold dodbo
(C) S8H (I &dy &%y nq;ﬁnlsfag':&cr
(D) Toarsy b (IV) (58 S &8 Bok 0B J%d Soves
(V) 406/ 6)5% Tre TERAs SEEnS PRoS
Dgs80

The correct match is

a8 HoThI #*doH [
A ® (© D)

) av) am M o

@ av) V@

() (V) @

@) (V) 2@ @ av)

Itough Work
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15. Identify the wrong pair of statements

(I) Number of stamens in 5 flowers of Allium is equal to those in 5 flowers of Solanum.

(II) The microsporangia of Hibiscus and Asparagus are having 80 pollen grains each. Then
the ratio of the number bf pollen grains produced from each stamen of these two plants
3.1 :1. ’

(TIT) The ratio of the number of stamens in the flowers of P'.isum?nnd Datura 1s 2 : 1.

(IV) The number of carpels in a flower of Smilax is :quul to the number of carpels in a

eyathium inflorescence.

s RO z2dod MbodSod

() wdSs’ 5 Parjed’d o .:nq:s :3'-51255:.&‘:} 5 Pjyosty idow
WOREH VATV aownod. S

(I) 0%, ua’nau-ﬁaﬂ‘n =8 &8 hﬁﬁﬂ‘-‘fﬁhad‘ 80 soi Do ST 00.
& Tods InFpod' &MY ﬁ:’ada Sood ad38 eThy dod Twiho
wogrg w28 1 1 &amaﬁ

() %3, S&rd !3&-:]5:5‘13 'é‘:faﬂ-@ aaipg By B8 2 : I dodwod.

(IV) 35008y 28 HHhyos'd ﬁ\qéwu Bogg wE DATHSD: fa-aaﬂ:‘;:’mﬁ“ﬁ
peders Doppss BIFJ0M dodod.

(1) an, am @am, av) () M.av) @) (0, an

16. Wind pollinated plants generally do not show the following character
(1) Flowers are large and colourful (2) Feathery stigma
(3) Single ovule in the ovary (4) Well exposed stamens
Foin Do HoDE0 BEPFS D)o Frdnom & ofrd) SrHod)
(1) H>ye EIm, Johes dodbo (2) &HESod demKo
(3) woardchod’ ol wodo dodbo (4) WISl Thow

Rough Work
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17. Identify the pair of wrong statements in the following
(I) Intine of pollen grain is made up of sporopollenin.
(II) Pollen grains are well preserved gs fossils because of the presence of sporopollienin
(111) Enzymes can degrade the organic material of the exine of pullen grain,
(IV) Sporopollcnin can withstand high temperatures, strong acids am:l alhh
o 1Bod o8s* So5R SEPYO sdod Mbodod
() SoBTemiy Bl vods DEDaESIo :ﬂ‘aﬂ*ﬂ‘ﬁﬂﬁﬁ‘ :};! ﬁ B0wod
(Il) FNE"PEIS A0G00 39 éu'ﬁﬂméjm Rowoam tﬁ@"aﬁﬁduﬁu‘m
(1) AR BZoew Sofi Bl g hghmﬁ".‘aﬁcﬁ‘ 403 '!mLht:E} 5:!‘?151 ESRovod)

(IV) F3 8 HBIS wbE aF'idod, voDs RS EEE ,g;ﬂ-u:.'n Swftdod

(1) (), (m (2) (I, av) (3) B, nuj 7o @ @
18. Study the following lists ;1_;3_;; 4?_“_:—5':"_“?_;‘
List-1 List-11 |
(A) BOD (Iy Treatment of scwage
(B) KVIC (I Mcasure of nrgnnm m.ntlﬂr in water
(C) LAB (IIN) Biological m:thuds for controlling plant diseases
(D) STPs (IV) Increases wlﬂnm E,‘,

(V) Production nf‘ngas
G Lﬂc:h erderody efgdne. ﬂdﬁ:ﬁd

Dol w—B

(A) BOD (1 wﬁf Han H0HEBESL

(B) KVIC () ZSasta s8y3 awg-al Bwwss $0drso

(C) LAB {lll} oo Tgho AboBes AXTIrA0T 25 Adbo|dn IFT WD
(D) STPs {!"ﬁ DbS B, & Doddo

ﬁ"} uﬁrrrsra 353
The correct mmch m
b 453115 ﬁ"-ﬂn‘:}}

A) B (© (D)
M @AYy @y O
@ @i V)
@ &
@m o o O

—_—i_—_

Rough Work
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19, Ideniily the correct pair of combination
(I) Parbham Kranti —  Resistance o Virus —  Bhindi
(I1) Pusa Gaurav —  Resistance to Aphids —  Mustard
(II) Pusa Sadabahar  —  Resistance to frust borer —  Low pea
(IV) Pusa Shubhra —  Resistance to white rust ~ —  Cauliflower
HOTHS FovnoR el H:-E odod W
@) B8N (s7e8 — BPESH (pAE'GES i~ >8od
() wyrar mos — u'a:rﬁ;,:-:: masgys =" ud
(I) > Sowerd — $oo 0T fbsok L::aa‘:;#a = A
(IV) Spar B — Bold HoHd BHoH PAGEES — sODSE
(1) (1), (1) (2) {Il} (111) (3) I'JTJs. EW) ) ), (an
20. Study the following lists “ '
List-1 List-11
(A) RNAIL (Iy Cotion bollworms :
(B) ELISA (II) Early detection of H‘tv
(C) PCR (1) Meloidegyne r#'.:l:sl.ﬂ:m:t
(D) Cry [ Ab (Iv) Anugnn-ﬂnuhc}dr ‘imcrm:tiﬂn
(V) Corn bnrc,r
& Bod wrDeood wdgdiado ’3@‘53&&
endin-l ﬂ"'ﬁu‘-‘lt
(A) RNAI (1) L:?E ?Jﬁaﬁ‘ﬂﬂ oy
(B) ELISA (i) HJWJ Lﬂ*&ﬂ:ﬁ 84¢* B Sdo
(C) PCR {III} aaﬁ‘m:ﬂﬁaa DB s
(D) Cry [ Ab {W} {%Eﬁis wido - (DBEETo HEDZNE S8
{V)' =6y #*55 (Com borer)
The correct maich is-—
a8 BTN AdoR)
(A) @B (© O
() (V) ~@y @n (o
(2) () vy (@ )
(3) (av) (m @ (V)
(4) (ID (V) av)
ml-l'“"ﬂrk

AM 2014 B 9R
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_ Assume that the occurrence of nitrogen bases in adjacent positions in a DNA strand is

random, ldentify the minimum number of nucleotides in a DNA strand where GAAIL can
occur once on the basis of probability ?

DNA 638" 4820 s oven (58), (983 60800 830 aird)uyso w3808, Hugrdgd
sordon GAAT (o nid T aoderdd ededo de DNA :3"156‘ aod SpEmrpio

E::I'l&. -::"ﬂqa'gi'.' HJEQ'I.—IQ& \- h“‘j;?
'.',.-‘ r‘\‘
(1) 1024 (2) 512 (3) 256 - {4} 40096

22,

ﬁ—'-—

Some foreign DNA fragment is attached to Cla I site of n‘E@Tﬁ This recombinant vector
is used to transform Escherichiu coli host cells. The m:lls ﬁbj&ﬂl&d to mnsfarmnhnn are
plated on two different media—one containing dmmmmﬂ m the other mnmg tetracyeline.
The transformed cells containing the m.uml:-uwﬁ- mjﬁr

(1y will grow on ampicillin but not on Iﬁtﬂﬂ}thm& cunmnmg medium

(2) will grow on both tetracycline r.:uum:nint ﬂml ampicillin containing media
(3) will not grow on either I.Elml‘!fclmf qmminlng or ampin:ﬂlm conwining media
(4) will grow on tetracycline hu: nut nn ampmlhn containing medium

Derlict DNAS pBR322S* ﬁ?’ﬁlﬂlal >do 58 oShPHbt B3, &b YidoTEras
SirEo S 0RoSr 888 Somb VOSSR P E0BIB. H8365 VooS Forew Tuds
B 38 Srdso b - hﬁﬂ BoDROS LONBHH0; Toddd BarREs EOASINS 8
- Soerdn iﬂ:ﬁ:z}u*um :uahﬁuaa-ua iy EOA% BBSES TobS ST

(1) wo%%d& !&ﬁ?.’:- di.l-":'iﬂﬂ N wéhavan, 50 BerREs £0ND WraEo
Do BEER) |

(2) T -Jfrﬁ s'ﬂﬁ;& S0 03w woDHOS ¥0AS cirdse Todod Q3¢5 D e

(3) Bz iagw 20N Ersso Did oD, vobhHOS LDAS SR80 6 SR READ

(4) 'ﬂLu'ﬁ:!E DA% Erdso D8 Bfmeron, TR woRBLOs SOAS arifo
E:rﬁﬁﬁj

Rough Work
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23, ldentify the correct pair of combinations

i e —  Distinction between PS 1 and PS 11

(I N —  Semiconservative replication of DNA

(111) *8 — Polypeptide synthesis

(v) **p —  Identification of chemical nature of genetic mmcnal

H0Tod ThvdoPe sddc Hdodod Ny

@M e — PSLPSIH 5:8¢ dov NG

m "N — egdodgs DNA L::as;a

(1 *°s — >0l woln ~

(1v) %P — =g Dovg ﬁﬂ'cﬁaﬂﬁ .asg,wz-,}libuqddu

(0 (D, (1 @) an, am €} tlﬁ V) (4) (D, (1)
24, Study, the following lists ..-f.._--rf%;”f*?fi?‘:ff3{g‘>;"f

List-1 List-11 Sy

(A) Exon (I) Site for hmdmg ﬂ" RNA polymerase

(B) Capping (Il) Coding :u:qul:m:.

(C) Tailing (III) Lagging atrm‘ld

(D) Promoter (IV) Methyl gl:tumﬂihl': riphosphate

V) Adtﬁ’ylmc :ﬂs:du:a
&1 |So0b devod uqignﬁ.}:ﬁn \iﬂﬁanﬂ

Dol +11
(A) d5730 R}m 20838 wodosud Fio
(B) =%oh {11} L w5 ESre
(C) BOOH {HI} I BS80S %S
(D) ®BSrbd (IV} BPS e oe _E_E:,é-"f:-;}ﬁ

(V) ©4388 eSHI .
The correct mm.u:h 15
ad HOTHE B80H)
(A) A8 (© @
(1y (Ivy b I (D
(2) (ny (avy vy (b
3 M avy @O ()
4y by (I av)

Rough Work
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25,

16,

B\

if the codon GGU is reversed, the resulting codon will code for this amino acid
GGU BhoBdo 88Anad 33 Botdo & oS vyl noSdorm dotool

(1) The (2) Tyr. (3) Trmp (4) Leu

Tall (T) is completely dominani over dwarf (1), Red fAower mlnuflii‘j is incompletely
dominant over white (r), the heterozygole being pink. Plant hwiq‘g;_n_ | }_ of Tt Rr is self
pollinated. What would be the proportion of plants with dwnrf nmipmk chamacters in its
progeny 7 ﬁ? r;

3dd vimo (T), &g () ofwo 28 oM uﬁ‘ﬂé‘nﬂ:ﬁhmun Piryo dhHoer:
) Bt (1) b wholrg BirgSom Aad,DAS alaigEe MerbEaK:
5000, Tt Rr mibogdrive $ONS Tty o Sy S S080;0 BGBBB00. B $o88"
;& Sodww tord ofarond) SuEjo ;‘iuﬂahuﬁ dotnolb?

3 1

2 —~e 9
(1) 73 (2) T (3) 16 4 T

2.

A cross between two tall gmﬂnnpenplams produced all tall plants. The possible genotypes
of the parents are

Bod: PE5) 6 verd 'ﬂuig,v;h Hod8m udhiByph wdy PEY Do ¥ a8
sonTow, =8 Bujod wisdsns) 25 grare

(I TT. T

(1L T,

V)T, Ty, |

The mnmn:ﬂxmr 15

ab #:.ﬂ‘f.mﬁ BEED

(1) (1), (H) (2) (), (av) (3) M, av) (4) M), (D

—————————————————— - #_—'

Rough Work
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28, ldentify the correct pair of combination
(I} Viroid — Bovine Spongiform Encephalitis
(11} Prion — Creutzfeldt-Jakob disease
(1l1) Measles virus — Glycoprotein projections
(IV) Rabies virus — Polyhadral symmetry
20 oy HgloD) Ao Béd MHBosSod
() Zoroxl —&° 35 Pyo=srd ISHSJAS
() (2cdrs -—LEQ‘..::J 1] Tgd
() o%d) 365 — [ @*dS0s" J038309 ;;‘U‘%ﬁ"ﬂ:f
(IV) D% BEhH — wir hour)d ado |

(1) (1D, (I (2) (I, (Iv) G). (B {,ﬂﬂ (4) (1), (i)
29, DBeggiotoa is a

(1) Chemoheterotroph “{2)" Chemoautotroph

(3) Photoautotroph " (4) Photoheterotroph

BA GG 2. ,

(1) Edohsnsdadhdo (2) & c%Hd Hroodnso

(3) 5708 Hyohoduso ' (4) s*0B HEFuSo

30. In flowering plants, the site of perception of light/dark duration is

(1) Floral meristem | (2) Stem
(3) Leaves | (4) Shoot apex
SR Ewﬁg;ﬂﬁ{- 508/AR08 5o SO0 (Ko grdSw *
(1) ®ay dgmeg Ymeoo (2) s~o0do
(3) SEre (4) (508 wiio
Rough Work
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Study the following lists
List-1

(A) Early seed production in conifers
(B) Seed development and maturation

(C) Lateral shoot growth

(D) Root hair formation

& (fo8 wrDorod wdgaido Fdhod
o1

(A) 50 pBod® Foldm D85 4853

(B) D35 whSYB, HoBYS

(C) &y D3od DHMse

(D) Srolrm 8 e

The correct match is

ab woThe *dod

List-11

() Indole substance
(II) Terpene substance
(I1I) Volatile mbﬂﬂﬂﬂﬂ
(Iv) Adenm“ﬁmnﬁw
(V) Carotenold derivaive

i il N
o N R

A ;) ' go8'S oS hdo
N (II) BéNS i"ngo
o (I w~ay%e Sordo

(IV) ©805 &8335y0
(V) 28'8aronb adydyo

@ ® (© D)

M av) @ an, m

@ an O W) @

() ) A av) @

@ a 6V @
E;ugh Work = i
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12. Assertion (A) : The RQ value of fats is less than one.

Reason (R) ¢ The amount of CO, released is less than the O, consurmed when fats are

used in respiration.
The correct answer 1is
(1) Both (A) and (R) are tnu: but (R) is not the correct :xpinnaﬂﬁfijigi {A)
(2) (A) is true but (R) is false. &)
(3) (A) is false but (R) is true. b
(4) Both (A) and (R) are true and (R) is the correct :xp!mmun of (A).

aiyde (A) : Bagpge RQ Dend afdd E:-lﬂ*{:&&m aotnod.

sdwo (R) ¢ ERg= Pen|Bobs’ Wﬁ;‘éa}m d&de Boed CO,
do@rnosstsd 0, ﬂu‘ﬁ ﬁﬁ;j

ad DOTLHS BITW - g

(1) (A)&0css (R) Bosr aaﬁo:saf. [A}a’: (R) 5050 Dddm 57&.
(2) (A)HBTLHSL 5% (R)ROS m:an rﬁa

() (A)DOTHO s R (R}'m'ama

4) (A) $o0080 (R) Bodw .;aﬁ:::aa. (A)Ss (R) 90T .

33. The form of carbon uscd ﬁ':r Lh-: carboxylation of phosphoenol pyruvate in C, plants is
C, o Waﬂn‘ﬁ' DEES Do), sror)8)0us ALTIrASE ¥
Sr90 S,

&

(1) HCOj / s @) H,C0,

@) CHAT (4) CH,
# E———
Rough Work
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34.

Asscrtion (A) :  Higher yiclds in case of bell pepper can be achieved by growing them
in carbon dioxide enriched green houses.

Reason (R) : Due to higher intracellular CO, concentration in bundic sheath cells
RuBisCo mainly acts as carboxylating enzyme,

The correct answer 18

(1) Both (A) and (R) are true but (R) is not the correct f:a.;:]ma:mnn of (A)

(2) (A) is true but (R) is false

(3) (A) is false but (R) 18 true ~

(4) Both (A) and (R) are true and (R) is the correct cxplanmiuu uf {ﬂ}

NEjdo (A)  : wls s8R BYE ) 58 a40d 04 H}ﬁ*wé'? ﬂﬁﬁ;ﬁﬁ: Soddody
whS Sdowda ﬂ‘ﬁnﬁéﬁaa o

odmo (R) ¢ Dozp S Soro fw odd CD; w:;;# mdE sdmon, RuBisCo
Bordon svor)8)PE S8BT, amﬁmua

28 DOThS worw

(1) (A) $20039 (R) Dods ROTED, 59 .ms: {R*} -aﬂﬁ!:ﬁﬁ» DEde 8
(2) (A)50THHS 5*R (R)DOGRIE 5°6)

(3) (A)H0THHE 578 5o {R} .:EE:.‘&:E&

(4) (A) mnnﬁnmauﬁr ;':nﬁa.-&a, {A}ﬂt:- “{Il]‘:‘au‘a:ﬁ Y. 1]

L g "-.i“l‘

35,

Identify the correct pair of startemums .

(I) Niacin containing cmzymn *fatihtn.lts the oxidation of malate in the matrix of
mitochondria.

(I} Haem is the prosthetic g;nuup ﬁ;lr the enzyine which catalyses the carboxylation of
RuBP in the stroma of’ chlm'uplﬂSt,

(1I1) The ¢lectron carrier heim cytochrome *C’ reductase and cytochrome *C’ oxidase is
attached to the mm s‘uil‘nne of inner membrune of mitochundria.

(IV) Waler splithng m& on in the lumen of thylakoid requires chlorine.

B8Td Tgege uﬁ:ﬁ: H:80808

(1) DErbE4 50N bir O5ES D&t roddr Sn@s! 20T 50796 uf)sons
Jeo £0nBI0d

(11) m&é'ﬁmi’gé“:} u508s" 20T RuBP AT RO ERES 4335080 W ISP
= B L?:l“"gé!E AENONG0M 0800

() 358545 ‘C' 84S Sebcln DE'ES T ulydE by QogTyn TUrEo
Fltso@dr P00 &8 Bk S0 JondE ediRd 40800

(V) E&:}s":mﬁ s353¥s 0T N8 W8S Sdgh £05 w50

(1) (i), (IV) (2) (. {1 (3) (D, (V) - (4) (1), (1)

—_.——_—

Rough Wark
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16, Study the following lists concerning the deficiency discases and role of elements
List-1 List-11
(A) Die-back in citrus (I) Urease
(B) Mottled leaf (IT) Hexokinase
(C) Mouse ¢ar in pecan (ITI) Nitrogenase
(D) Whip tail in cauliflower (IV) Cytochrome ‘C’ oxidase
' (V) Carboxypeptidase
saroso TR 0T agdho avd S H8om & (Bod snderods wdgdirio
Salod
erRoe-1 eraor-11
(A) QEE-:&&?‘ BwS () ohrbohd
(B) SaSyen Ao H|8o (I w5338
(C) 2eES* &6 wohb () 3 &*238,
(D) =b356S" Sdar &5 (IV) &S5 'C’ 0B @&
(V) sapSyopad
The correct match is AN
ad H0Thd & 60w
(A) (B) (© (D
() (V) () an av)
(2) (U (dn avy @
3) av)y ) (@ %I}
4 (v) () (WD )
37. Study the following table ahnwiﬁa lhﬂ components of water potential of four cells of an
actively transpiring plant : |
Sadsds wﬂ‘iﬂgﬁa 28HE0LIS) 8 BnE6°) sreo Sere V8 45) BbsT™
aRguEy & (Sob &gﬁa&:--yéé'gcﬁaﬁa Sa%0d :
Cell Solute potential Pressure potential
£00 T8 450 LdS e
L e (MPa) (MPa)
h _04153 ﬂ.#:
B ~0.75 0.36
C -0.83 0.47
D -0.57 0.29
Identify the four cells as root hair, cortical cell, endodermal cell (lacking casparian strips) and
pericycle gell respectively in the young root (assuming symplastic water flow through them)
Gt Treud Earod: 98 S8 Honodon) SwroEdo, Sy Emo, wodd)0; swo
(5790058 whoy STHoDH) Bden WOHE Emom S8%Bm MdoNod. (a4
g Doy vosSon PTTWOH0%)
(1) A,C,B,D (2) B,D,C A 3) D.A.C. B 4 A,DCB
- m— #
Rough Work
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38. Muich the following lists

List-l List-11
(A) Salvinia D 'Submerged, suspended hydrophyie
(B) Lichens (Il) Amphibious plant |
(C) Rhizophora (I Heterosporous plant
(D) Utricularia (IV) Soil formation ;

| (V) Halophyte Ty
& |Eod erderosn adDSS04

(A) Do (1) ﬁ]*grr' hﬁ'ﬁ‘ So0h edooDSom aod InY,
(B) B85 (In) ﬁﬁcﬁaﬁﬁ 2wy,

(C) Be'Pior (I "jlﬁﬁihgﬂaﬁ Sl

(D) cio|@hgTohr (W’}M_Elﬁ 2¥ydbo

Cty) edy o Dk

The correct answer is -
a6 SOTVE direEE

W ® OO
M an v & o
@ an @ v O
o ol w0 o
@ @ @ am

Rough Work
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29, ldentify the wrong pair of stafements
(I} During plant succession, some species colonise an area and their populations become

more numerous, whereas populations of other species decline and even disappear.

(I1) Both hydrarch and xerarch successions lead to mesic conditions,

(1) Secondury succession is a slow process when compared to priciary suceession.
(1V) In the successive seral stages, there is no change in the diversity of species of organisms,
n0sR agoge =8 Mlodod N/

() 2wgHo wHESo adhddypd §) 8o iﬁﬂﬂ a8 wTede o
DFobron. 8 ddomr §'0) erdow _ﬂdnb 'ﬁﬂ' |SHom edydgdoperon

(1) =ogdso, zoryrdFsso Todur !f.F"’EF Eﬁb&ﬁ: Sogige Ream arverow
(I1]) (@D eSES08 SFOYSDPE, ngéu&a 59§30 IS0 wdikend
(IV) $rgging (E58a Sdos ﬁﬁﬂ*ﬁm 3:}qssms‘ Sréye 2605

(1) (1), (1) (2) (), (ﬂl}ﬂ, 7(3) (), any (4) (HD), (IV)

40. Identify the correct pair of Etalﬁmﬂhls |
(I) Functions of sieve lubes ;l.r:'j_;-_;l."il‘-:rlg;ﬂ:..l‘l:rllﬁd by the nucleus of companion cells.
(1) Albuminous cells are prtsﬂmin angiosperms.
(111) In dicot root, the vaseuiar cambium is completely secondary in origin.
(1V) Cylindrical mnnstgm; :nnmbu;e to the formation of primary plant body.
=0 T8 ;.T-ypgu ﬂﬁéﬂ fa8odod
(1) ﬂ‘::r'&::--:."ﬂ Js':;:-e.:u:':: Sirdmre So|88c Jdlio@0b
(11) uma@ﬁ_«ﬁmd oo wdyd Derod dobron v
(1) Byseba F6:6%, 305 Dyragseri® Grom B3bub H)8 Sioabod*S D dEon
(IV) rirsrd Derap Eneraren o) (E0E diro 20 G008" &'dyderon
(1) (1), (1) (2) (D, (1) (3) (), (IV) (4) (I, (I

Rough Work

AMZ2014 B 19 R



AM 2014 B

ZOOLOGY
41. Skin color in maun s an example of
(1) Polygenic inheritance (2} Sex-linked inheritance
(3) Multiple allelism (4) Pleiowopy 2
sn55 $630 S0 ADS TV @
(1) ui:'unaﬁ-}ﬁ eoosoldd (2) Do ﬁﬁ'ﬂﬁkwﬁ:ﬁniifi
(3) wirodcing) D€os (4) E:Era,;.‘.“h
42, Maich the following “~
List-1 Lht,-ﬂ
(A) African sleeping sickness (0 Emu.[‘mm
(B) Dumdum fever (11) Hﬁm‘@pﬁtlus influenzae
{C) Pneumonia (- Hishmunil donovani
(D) Parasitic castration ﬂ'é"] Tnm.numnu gambiense
,_{_’1_‘-’} | Lmshmanul tropica
(EoDTDY webEvada N\
A Q gr-n
(A) 83ED s it*;@ m b
(B) dodo mebo {1[] LrIrboh ahyriboe
(©) BgIrade o) (i) baydds o
(D) Sondy#Ed :--q:-a‘aﬂ | (V) (S5 T mobalhuy
(V) damadr rbos
The correct nnﬂm&r ist
= {4 e {s) E-.'u’é ::ﬁ-r:rﬁﬁn
tm € (D :
(1) lWi mm ®m MW
@ Avy @n @ O
(3) (m av) an (n
@ (m o an @)
‘Rough Work
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The inner lining of the ducts of sweat glands and pancreatic duct is formed by this epithelium
(1) Pseudostratified (2) Stratified cuboidal

(3) Stratified non-keratinised squamous (4) Transitional
Pgd(iodios S0® £'5 |fod vwre S*'50 doo & ADSY OO Dﬁgﬁ:ﬁ:ﬂﬁ

(1) Bergnos (2) Bo8IC
(3) 2o, U8 g8 duyo  (4) m?sa&ﬁ _ |

i,

Match the following
List-] List-I1 -

(A) Jim Corbett National Park (D) Gmmﬁ

(B) Kazirangs National Park EII’} htlﬂhm Pradesh

(C) Mahavir Harina Vanasthalt National Park [III} Rajasthan

(D) Keoladeo Ghana National Park : .,1.__‘11'} Urntarakhand

ELTARA LY pdSdohadn <

S@¥-] N SEE-11

(A) €506 anBos by ) M rozocd

(B) E28om ;ach a0, o (I) o |‘_-':'di

(©) HtDE Trdw SO by >y, () o=PS

(D) E85%r0boir o ﬂ"a-:ﬁ;- 5‘5:& (IV) adopod
(V) "o

The correct answer is- C
ad R[OS ian":rg‘ﬁi'm
(A)  (B) /(O D)
() av) (vj. an (Jm
@) (np AV). av) am
3) (Ip (@ an av
4 vy (D (I (V)

e #

Rough Work
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45, Mules produce sperms by mitosiz in

(1) Lepisma (2) Periplaneta americana
(3) Apis mellifera (4) Drosophila melanogaster
2 208" 50wl oo H|Fdarer JEydcerow -
(1) B8b3 (2) oI ud‘*ﬂrm
(3) oS WOHo (4) Lﬁ‘#.;mn,usmgﬁ
d46. The protozoan with heliopodia as locomotory structures o
(1) Euglvpha (2) Actinophrys  (3) Enmbcba (4) Elphidium
S ITBrAcsre SoSdisrosn EOAS Lﬁtﬁ‘ﬁ’:v 49
(1) olar? @) D5 (3} Jﬁqﬁ:u‘ (4) Ab3ac%0

47. In the following functional human lung smdm;\ldmtify the total lung capacity
(A) Inspiratory wamity (IC) g N
(B) Functional residual capacity [FH.C} S
(C) Vital capacity (VC) \, -
(D) Inspiratory reserve volume {E}o"l
(E) Residual volome (RV) ANON
(F) Expimutory reserve H'ulumq {Eﬂ?l
(G) Tidal volume (TV) (0
drddHa (Boirso ;DO E # BovodoDd & (£00 wdgoidsnes YOI mb088
W8y, ﬁrﬂ ﬂ‘ﬁafg bn;:;ﬁ- B odle
(A) oy g® b:h;gn {;Icff)
(B) (foirsys uﬁ”ﬂ‘a rdag go (FRC)
(C) 368 &4 g0 {VO)
(D) &y sa’ﬂmﬁ S3DBSrmo (IRV)
(E) uﬂﬁ S:850%5rmo (RV)
(F) :lrsia 2od MSdsS 00 (ERV)
(6) BES SusgSs (TV)

The l:ﬂ"m:cl ANSWer is
=8 :f:ﬂ@::‘: o YL 2

(1) (C)+ (E) (2) (D) + (F) (3) (A) + (D) (4) (B) +(C)
Rough Work
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48. A Molluscan with caleareous spicules is

(13 Chaetoderma (2) Lepidopleurus (3) Dons (4) Neopilina

5T 0000 Sobsud §O0S Soaryed

(1) §&'aoy (2) BLESFES  (3) 805 @) PR RDF
49. Protcus anguinus is an example for 2

(1) Photokinesis (2) Circannular Rhiythms

(3) Effect of light on Pigmentation (4) Phototaxis

(@ 3D worirgdn ONS sordrdn | |

(1) 5708 oSS0 (2) a*-gs’ mﬁ:m

(3) Sgom 5708 (DFE0 {4] s'na ﬂ;’uﬁui&u
50. Male heterogametic sex, XX, XO type of sex d:tﬁmmutlnn is found in

(1) Drosophila (2) - Butterflies

(3) Moths {4} Grasshoppers

Dda Das nowrdbz dof, }{X.}{ﬂ! d“@ Dok Dgde Hates® eafrbHoshd

(1) FFper Y LU0 bestdmge

(1) SrEes T (@) ddedey

51. Choose the functions of sympmhtﬁc ‘nervous system
(1) Dilates blood vessels, stimu;l:ms salivary secretions

(2) Constricts bronchi and pupll of eye
(3) Increascs heart rate, mlum:a bronchi
(4) Decreases heart Iq;i:, increases peristalisis
pitedrd ad asazgm HowodoS e S MGoSSn

(1) S&>rerey :Jf“.‘r'aﬁa. srorzordo wdo Wakns

(2) ﬂ*samﬂﬁﬂ:&a S50 Lolarnd Lotod Tolnd

(3) Iryscih pyods Tew weodhd, ryvePios 5% Dol

(8) Sryass ByodS Tbo BNosb, DOFOLE §80e whke Fokut

—— = #

Rough Work
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§2. Note the following festurés and choose the ones applicable to wuchereria bancrofti
(A) Coeloxoic parasite
(B) Histozoic parasite
(C) Monogenetic parasite
(D} Digenetic parasile
(E) Monomorphic scoclomute parasite
(F) Dimorphic pseudococlomale parasite

(208 cfmud AdNoD asTodr wroirh% $00T ngnr-m;h 20 ol S

(A) L5 8 BB ED

(B) fmers Sovs)Ed
(C) dsadon HovSyAD GV
(D) 8gwbFon Hordy#d :

(E) DEUrs 480 %iro0ird Hodydd

() ﬂsﬂ;:l"ﬁ Il.u‘.',!"'a i8d g 'ﬁﬂ"ﬁlﬂa

(1} (B), (C), (E) (2) (B), (C), (F} L3} {BL (D), (F)  (3) (A), (C), (F)
53. Minisatellites or VNTR's are used in =

(1) gene mapping A7) ’{1] DNA fingerprinting

(3) Polymerase chain renction {FC‘R} “  (4) gene therapy

dd¢ O>IBL T wmﬂm ﬁ‘-bmrn oBS S

(1) u;&a;érhaﬁ N (2) DNA S48 (bodiofi

(3) 0585 Ayone ﬁ&s fmi.} (4) mdog D83y

54. Emulsified fms are digmzdby — | A
(1) Pancreatic juice and' intfsmml Juice (2) Gastric juice and pancreatic juice

(3) Bile juice and mlmmi juice (4) Pancreatic juice and bile juice
J5:Hy88m0 ﬂu&:ﬁ 5*.&;5 Sorgrw Jdded &g Bk Todd
(1) §'8o85dm, wnm soBInsn (2) wEEEHdn Sbose B ignse

3) .:..15.:5:::,5 i&nﬂcﬁm GOS0 (4) §'3060dn Hdwn BEgiodw
§5. The factor why:h initintes the intrinsic pathway of blood clotting and triggers cascade

reaction j&
(1) Hageman's factor (2) Anti-hacmophilic factor
(3) Ehfimnu factor (4) Stuurt-Prower factor
©odJdzadod (@' ol wodd Yigd aBuodind SER L08R S Eidn B 1
(b 5 sddo 2) drodirBrH08 s6do
(3) B92% sdgo (4) Hrdf- 258 »8%0

Rough Work
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s6. In which “Assisted Reprodustive lechnology” (ART), “Test Tube Baby” procedure # applicd »
(1) Zvpore-intrafallopinn trunsfer (ZIFT)

(2) Gamele intrafaliopian transfer (GAFT)

(3) Intracytoplasmic sperm injection (ICSI)

(4) In vitro fertilization and embryo transfer (IVFET)

wddagd 38 HIRAE PoEBIS™ (ART) Dobod® "B ergd BO" (DO OS5 IRy
AL S o) ag a2 eaocbrdat )

(1) 26"BchS Fwrods Sooing bu oobd (ZIFT)

() »SBas Ferodd HoTrd Da wobd (GIFT)

{3) Swdd ﬁ:&aams‘a fHiSdmoiy aoB Sdsado (1CSD)

(4} 768 wivg Hobsino - LodSr0N8 (IVFET)

57, Choose the correct stalements with reference 10 nrganiﬁ‘ﬁ.*ﬁrﬁijﬁﬁ
(A) Flippers of whale and wing of bat exhibit analogy,/
(B) Wing of butterfly and wing of bird exhibit homalogy
(C) Organs with dissimilar structure are called afnlopols Organs
(D) Organs with similar structure and origin are ealied homologous ongans
(1) (C)and (D) 2) (A)and (C) (DB)and (D) (B (A)and (B)
a5 sDmEini s Bonododd HOTHI Mpwgody HgowiE
(A) 8Dodeodn Sg> Toxg H0 B i'i’ﬁataﬁm oLy wrodl (DO0 IR
B) LerE sy Bep S0uks BE O WV Brodi (BE0LER
(C) Doye DISESD Ao wihdharaly Borinig B oaruod
(D) &3 DEDS Yol Sbon DomH TONS edTeme Ve g edabTood

*

(1) (€) 0= (D) (2) (AyS:8u (C)  G) (B) woukn (D) (4) (A) 280 (B)

58. With reference 10 Phylum ﬁ-":a;h'inﬁ?‘-dummm. identify the classes which have Pedicillariae.
(1) Ophiuroidea and Holothuroidea

(2) Crinoidea and Holothuroidea
(3) Holothuroidea dnt Echinoides
(4) Asteroides and Eehinoidea
.}E..":"En*aﬂv.,ﬁpfﬁ# Homodod RAHTISTLD EONS Juriroae rf:_h_nd:ﬁu
(1) Lhonoondas 5:0%s He'geronbar
2) 3 jmﬂl;-:;:tﬂcﬁd' Sapcsy oSt dorond ol
(3) =eetgoorondais 3:06ks JETonAGET
(4) Dporondosr 0EN Evrendor

e e —
Rough Work
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§9.

Dense regular connective tissue 15 present in

(1) Pencardium and heart valves (2) Ligaments and tendons
(3} Joint capsule and Wharton's jelly (4) Penosteum and endosteum
ro|bdd |¥Sodfnd DoTWrul fnwoo JOS' dodo

(1) ryfcdrdide 8 S0an ol forbw

(2) wod€idues So0din Amuin wodsdduos ia S

(3) 8¢ 95 Sown TgsaY

60,

61,

(4) DSghE S0dn JosrHasio
The secondary stem cells that produce Neutrophils s u’
(1) Ervthrocyte committed progenitor (2) f’ﬂnnuiﬂﬁ}'te-mﬂnmym propenitor
(3) B-cell committed progenitor )" M&gﬂkﬂa'uh]hﬂ
S|t H 8y adyS sn dain agaah :h:fiismm
(1) 5 & & so05 (2'E265 ) St BE-BnS DA (SEILS
(3) BHd £088 @3006 ]‘4‘3 ESlndal ety tr-§
Mutch the following |
Set-1 —_— Set-l
(A} Natural active immunity () (1)) Develops due to vaceination
(B) Nowral pussive immunity ,":_"'f;«_-flf,“_jj' (II) Anti-rabics scrum
(C) Adtificinl netive immunity (1) Acquired after smallpox infection
(D) Antificial passive lmmuniw (1V) Transferred from mother to child
EE=aty :-.ﬂiati:d:i'm
s8¢l > SgL11
(A) Hire Bdirio ﬁ‘ﬁu‘ﬁ‘asa 0 dso orgor )0 Tockd
(B) S Sn ﬁ'ﬂwe;ga () cirod-orDB 60
(C) sy@s L&ﬂs:-&m Loyt laplat 3 (1) SArd /ES Dane gl CE
(D) £)85 dn BXIB*SES (IV) 80 208 DG5S 28D wHS00

The correct mu.ti:h is

a8 5O E;#:& ﬁ"’ﬂu‘é}
{A}t m] (C) (D)

(1) (V) am @

@) V) g m an

(3y-am b av) ap

(4) (. (av) () (1T)

Rough Work
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62. Mumch the following

L.ist-1 List=11
(A} Zygomatic bone (1} Keystong pone of cranium
(B Lacrimal bones _ (1Y Cheek bone of cranium
(C) Parietal bones (111} Smallest bone ol face
(12) Sphenoid bone (IV) Rool of cranium

(V) Floor of cranium

Holsol) 2808333108

L™

58¢-1 SGE S
(A) ERSr8E Jdud () (Eochods® leosmys Jsos
(B) v wiie () Sdeos'd Job JisnLen
(C) Harghoes () Hue Priost sd OF) JEng
(D) Hysddho (IV) Sro H66 HESy

(V) ge SE w0
The correetl match is |
28 S0THG 80D

(A) (B) (©) (D)
(0 (n  gm (v) (V)
(<) (1) (uy  (v) ()
(3 (1 mn o av) @
@) (I ava Iy .

63. The muscles of human eve receive impulses by the innervation of these cranial nerves
Sr5H otV Eoduros: B dob 78 [Brdbn Fdn SFroTdio

(1) IX, X, TV 2) VL L X (3) HL IV, & (4) 11, Iv, Vi

—— e —————t

Kough Work
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64, Maich the following

List-1 List-11
(A) Leydig cells (I} Carry sperms from seminiferous tubules to vasa effercntia
(B) Sertoli cells (I1) Nourish sperms
(C) Rete lesus (I1) Secretion of lestosterone
(D) Corpus luteum (IV) Secrction of progesterons

(V) Secretion of oxytosin. -
BoldarRn udddniiaw

5g¢1 SEEA

(A) DBR e ) B Erod DEte S »0¥e Hod HEFVELSD
IeSsuS

(B) w80 e () B S FhodHhd

(C) &8 suhy0 () BFHTES (3o

(D) 635 erdabo (VY (ZFEPTES (HD0s
V) 33855 [Blodd
The correct match is
20 PO dowy
(A) (B) (©) D
() 1y amim o
@ V) av
(3) (A @ av
@ ameay V) v

Rough Work
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63,

I the life cyele of Ascaris lumbricoides rhabditiform larva undergoes 2™ and 3™ moultings
in

(1) Small intestine (2) Liver

(3) Heart (4) Alveoli of lungs

w505 woBrond D 4D S|god® oDUSE) SogfESn 23 S8gkn 35 N Ses
a8 20RE e '

(1) 9%y b (2) sdahdn
(3) A08 (4) #hﬂaﬁp&ﬁ adn 5w
66. Statement (S) : Lancelets are jawless, primitive ﬁnh ltke vﬂﬂebrml:s

Rough Work

Reason (R) @ In lancelets notochord, luhuiar ;IE:W: mrd and pharyngeal gill slits are
present throughout their life.

The correct answer 1s 2

(1) Both (S} and (R) are correct and {R} 15 nnt the correct explanation to (S).
(2} (S) is correct bul (R) is wrung

(3) (5) 18 wrong but (K) is ::nnﬂ!l

(4) Both (S) and (R) are correct ﬂnd { R] is the correct explanation to (S).
sz (S) : evSyBSds ﬁ_ﬁdm 80 ool ngng DEHSTes.

sdmo (R) : orB)B4dkom S)hdvdo, o0sdng sddodo 0w WL
{Jﬂsm 20eo0do dolron.

2l HOTHI mm‘mﬁu

(1) (S)Ss0c% (R) Bodr HOTNSD 0. ()% (R) SOTHS Jddw 5780,
(2) (S) 90 T%a 50 (R) HOTHNE s,

(3) (S) faé;ﬁ;;ﬁ& 5% oD (R) 58T8D.

(4) (S) D003 (R) TDedr R0TLHD, (5)% (R) 20T 2w,

AM2014B 19 R
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67. Mutch the following with reference to Adaptations

List-1 List-11
(A] Sea gulls (1) Chlonde sccreting glands
() Kangaroo rat (I1Y Water cells in rumen
(C) Turtles (II1)  Salt exereting glands Bl
(D) Salmon (IV) Oxidation of fats to generats. water

(V) Anadromous migration
giafrodols Honodonn Llciha';'l.ﬂ u#".‘:d:bos;:srn

Sge SEEIL (S
(A) & ddy n 5285 Lﬁanﬁ Lﬁa&m
(B) Eomis Jen¥ (1T} E’:ﬁiﬁ u-‘&r-‘ldimﬁ‘ e Eoren
(C) =B (I eouws :‘lﬁgﬁ lgid-ﬁal:n
(D) a5 (V) EHgo u!:ju-'ﬁu Hokdo ergor ol asNE

V) 'H'Lw':'am Sus
The correct match is T
=TA :ﬁﬂ@:,‘ﬁ E‘ﬂﬂm A,
(A) (B) (© (©F
(h n  av) o ﬁ'} >
2y () (V) [I]]} m s
(4) (I (W (W}

68. Which of the [ullnwmn helps 10 maintain specics diversity in a community ?

(1) Fnau!mm; pa.mmtﬁ (2) Omnivores
(3) Predatocs (4) Herbivores
L8 ﬁWﬂ"ﬂ o BOoTg) NOgiroddodt 8'dauE0 [Bod RS D07
(¥ QSE;}H Sody 2 3es 2) :':dsnjy_l'm
(3) "oFLrw (4) SEFEr
Rough Work
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69. Which one of the {ollowing is the first step in allopatric speciation ?
(1) Polyploidy (2) Geographic isolation
(3) Hybndization (4) Genetic dnft
SFMEE BHWTHAS tardoo 4838)5* Twdd Tow D07
(1) dOTond (woe¢ 28%) (2) JR'0¥ DILS
(3) Hofdmo (4) BOAE 4%
70. In Periplaneta, which one of the following helps to nourish the spwms ?
(1} Utriculi brevores (2) Ejoaculatory duct
(3) Vas deferens (4) Ulnnuhmﬂjurca
BAPBS & (Bodadst DD HEiore Mand Srdbieon
(1) cho|@dseD D8 () $poserdo
(3) HE>id (4) WS %3 D BE'E,
71. In Periplaneta, ductus ejaculatorius of male n:pwdul..uw: system lies in
(1) 6" segment (2) 7" segment /“(3) 8" segmemt  (4) 5" segment
RO AES Hd H8g838 e8P Bsh B8 Fvo SDet aomas
(1) 63 poddo @) 73 mqﬁﬁb‘" (3) 85 poldo (1) 5% pod&o
72. The type of syngamy seen in Tq;rchﬂnjrmphn is
(1) Conjugation (2) Hologamy
(3) Anisogamy | (4) Isogamy
B95'00¢" 8HDH0% Soding HoTrK 55
(1) bocsmrgse A (2) &*St D -
(3) ua:’;ma'ﬁa‘ﬁ;ha (4) S SoTrnSw
73. The hinchem;cf.s_-:i procedure used to detect himan chorionic gonadotrophin (hUG) is
Srbd S0uSrRE Ml (*5 5 (hHCO)o H00wHe S aHTrNow: E50akad s
(1) ELISA (2) WIDAL (3) CAT (4) MRI
Eugh Work A
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74. In EEG. the waves which are quite low in frequency and having high amplitude are

(1} Alphs waves (2) Theta waves

(31 Deltn waves (4) Beta waves

EEGS® &r5i1ySgo oro 48y & aold JE5 Sohd H62:00 550 acd 8o

(1) weory ddoiros (2) ber idnn-m

(3) "o S¥omre (@) ber ﬁﬁﬂmm
75. Mutch the following ""A J 7
' List-1 List-11 N

(A) Down syndrome O 45X N

(B) Edward syndrome (I 47, 3;5, :ﬂl

(€) Klinefelter's syndrome (il 47 m{ 4

(D) Patau syndrome (IV) 47, )D;,; 421

(B Turner's syndrome {"'d'} 47. ﬁx'r

81 BoldodR) mdddedodn

Sgs-1 agx-u

(A) @5 ho|8'5 ‘ “‘ﬂi] 45, X

(B) 538 Hol6'S ~'ff_-;,.?_f.,'.:f{"?-;.:_ ) 47.XX, +13

(€) 355y6 B 7 (W) 47, XX, +8

(D) 28 Lo|@'S (IV) 47, XX, 421

(E) 8635 Bo8's * (V) 47, XXY

The correct mntch i;

28 HOTH é"ﬁu‘.‘;}

(A) (B)C )y @ (B

() avysay (v @m0

(2) {[ﬂ}h [W} (m (@M ™

@ADL an av) V) O

f“l'"ﬂ"-"') am vy m o
—————————————————————————— ————————————

Rough Work
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76. Choose the wrong statement with reference to subspecies

(1) They show minor variations from parent population

(2) They do not interbreed with individuals of other species

(3) They are new speuie:; in the making

(4) Cieographically isolated population of a species

Goz8 vioros) Dowodovd HosR eS8 .'.:-;"}ln& .

(1) =D 238 208 vy 500 Heoy Srdyes ;‘:aﬁﬂaﬁaﬁ;«na‘w
(2) 32 add o SgHod Puddo 2HhdH

(3) ad SardHEd) £'8 wden

(4) o8 8 TG THOL D35S Bodd wawr

77. Erythropoietin is a hormone produced from

(1) Kidney | ‘,{1.1) Thymus
(3) Pituitary ) Heart

Jﬂ@"é‘nnﬁﬁ :1‘5'3_5 89 %08 ﬁﬁgéﬁiﬁaﬁa&:

(1) S ERodo \ 2) BHD

(3) 2erped N (4) MoB

8. Intra abdominal testes are ﬁ_:iun'd in

(1) Canis and Felis i, (2) Panthera and Eqm.'lr.s

(3) Macaca and MEﬂFﬂF&ﬂ (4) Balaenoptera and D:Iphi;ms

4880 *de éﬁaa'}m D8S* aceran

(1) 25 S5805n HOD (2) Fodor S:00%n S¥gh

(3) Sos°F S0cin SF0R (4) DoTrPor ocin BOJHH
-I;-;ugh Work
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79. Maitch the following

(Part of nephron)

(A) Proximal convoluted tubule

List-1

(B) Distal convoluted tubule

(C) Descending limb of Henle's loop

(D) Ascending limb of Henle's loop

(Foda00) BdBEN5BD
2861 (3P wio)

(A) Hab'd HodVddo

(B) Srovd SoSPETo

(C) D 855 el I
(D) % 885Y o' vy

The correct match is

ald HOTNS =*80w)

(A)
(1y (av)
(2) (1
(3) ()
(4) (V)

(B)
()
(IV)
(V)

(1)

(C)
(0

(I

®)
1)

(m
(1

B\

List-11
(Function)
(I) Impermeable to sodium tons
(1) Inrp-:rn:-:nblq__ii; swaler
(Il1) Facultative mhsmptiun of water and Na'

(1V) Reabsorption’ of nutrients and Na~

96 (90)
U Are0He SoRrE srdiitogs
ay het edcrgs
G am S Nato D808 Hdietjhe
(IV) &*aso, Na'o wd' jie

80. In Alpha Thalassemia the gene HBAL is located on this chromosome
sy Bo%byusret HBAL edsgd) & (5'3rd'S: DS o8

#

Rough Work
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PHYSICS
Five resistances are connected as shown in figure. If total current flowing is 0.5 A, then the
potential difference V, -V, is
Basng” Srhd IgSug S A5 G Sves POPS R, o8 oo (253535 Fwdo
Qg8 (Hardmo 0.5A wond FTYoS dgo V, -V, Dend

6 [ohms) 6 (obms) 6 (ohms) (7))

— VATAY

0.3 A § (ohms)

(1 4V 2 8V (3) 6V 4 2V

A purticle with charge q is moving along a citele of radius R with uniform speed V. The
ussociated magnetic moment p is given by )

w50 q o f €00, R g gin Mo L8 5)8 50D D323 58 Va' 36585538,
@aE 40d v o8 Lt.r‘i&.'-ﬁi':::.‘:h_fﬁ_,‘

i |
(1) :,qz"m (2) Eviﬂ
3 LqVR ) & LqVR

A wire of length L mﬂﬁrs .car'r}'ing a current [ amperes is bent in the form of a cirele. The
magnitude of the magnetic moment is

| woDassd ﬂ&ﬁ;ﬁﬁ: Sroindody L . 28d) fo o¥ 38k SHesdind® Sesudins,
B% ypdy, oSt eahdv o8 FYiE H8IrmSe

LI 1212 LI 121
Y @ & A 32 S
Rough Work
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84. The major comnbution of Sir C.V, Raman 13

(1) Explasation of photoclestne elicot

(Z) Principle of buoyancy .

(3) Scaltering of light by molecules of a medium
(4) Eleciromagnetic theory 75\
B8 .0, ovdaS Tndy ady 38 wodorso 4
(1) =08 Da:i:;ﬁ 204 258, w
(2) 68384 Sr@de
(3) cSrassds smodHed swod ;‘:uianw
(4) ASsg8SIyed Bgodis 2

e e
!

B5. If the absolute crrors in two ph:mﬂtl quu.nunm A and B are a and b respectively, then the
absolute error in the value of A - ﬂ Is :
Bods ag o A &umﬂuﬁ‘:} 563 B'dres SGdM o H00» b wond,

A=B No:sgth Beds ﬁ‘m
(1Y a=0 {z}‘h—n (3) axb (4) a+b

{ ™

86, A particle stars mmﬁﬁg ﬂ'um rest with uniform accelerntion. It travels a distance x in {irst
2 seconds and di&iami-:: y in the next 2 seconds. Then
wd SBoNH) BH‘&iB 5508 wAHeBEl HI:dg8nind PEPESIH)0. 0d Tl
2 aﬁ?&ﬁ"(ﬁ iﬂﬁ‘.‘m (HordoDSs, Do S&H0 2 DERS” ¥ AN (RardoNs .

ﬂﬁ}ﬁ& K
u};m;- ox (2) ¥y=3x (3) y=4x B) y=x

Rough Work
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87. Atume t = 0, two bodies A and B are at the same point. A moves with constant velocity

V und B starts from rest and moves with constant acceleration. Relative velocity of B with
respect 1o A when the bodies meet each other is

o0 t1=05d, Tods S&iHoo A So0c» B E Dodod) 3G 433D, A S50 V el

ROIA0E A b B SHF D10 8 H08 voberdd HE Sg8nieE i DalrdidyD.

@ Bod: 3o DEDIo nE oIS L:5°Ed Eu:;':aﬂﬂl:v&; B é:’ba:’a o8 3o
AS 03 Ha ‘-

v AN\
() 3 (WHNY

~ A body is projected horizontally from the top. uf‘nﬁw:r with a velocity of 10 m/s, If it hits

the ground at an angle of 43° the vemcai f:ampanmt of velocity when it hits ground in
m/s i5 a

LE Y0NS 208 2.5 559 iﬂﬁfa'ﬁ:‘ﬂﬂﬁﬂm 10 2:/% SKod’ (BE S0 Jabnsse.
98 oD 45° Feosnd' o8 F, 68 DD o8 H3ic5k06" Tdo Ty & B vow
wofdn fod r

(1) 10 @Y 1042 B) 53 (4) 5

89,

—

A body is projected mihan angle 0. The maximum height reached is h. If the time of flight
154 secand g = H} rm*sz then the value of h is

08 sod* 0¥ g@m (BEDED WhwdS0: wbd T0S M0 J& h 66 mOs* (Scirdods
Sudo rodnd DY S0 g=10 /7" wonS, ©By6: h Desd

() 10 m (2) 40 m (3) 20 m (4) Sm

Rough Work
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90, The linear momentum of a particle vanes withtime tes P=a + bt + ct®. Then which of
the following 1s correct 7
(1) Force is dependent lingarly on time
(2} Velocity of particle is inversely proportional to time
(3) Displacement of the particle is independent of time '
(4) Force varies with time in a quadratic manner N

1..

&8 dmadw TwEy dhas (g Fidw oo 1 & P“r* bt tott 38 drdadiot,
wondS (H0d oGt 28 DOTHI FSIFISD y

(1) Bodn, sToSo® ﬂhﬁﬁaﬁnn‘ uq:*ﬁf:ﬁ;#bﬂl‘:

(2) Emdn WeEy Jddhw, rodld ﬂﬁ‘ﬁnhaﬁt&pﬁ‘ dobuod
() fusn Ty FH Wolo, Poold WFESEL

(4) wodw soesdrd Todd wéqm“;}iﬁﬁaﬁmh

91. A horizontal force F is applied to @ block of mass m on @ smooth fixed inclined planc of
inclination 8 to the horizontal s shcwm in the figure. Resultant force on the hlock up the
planc is
§ 8 Soarodows 6 o ;‘mé:ﬂ- Ho Ui S8 orw Sodne Huym Lﬁﬁsr#
Ho o8 830) B, Dbhind' HrSHDgom, w8 §8s S3rodd BOdY F [STrACSBAS0.
dodn i 0B D ﬁﬂﬂ%ﬂ-‘;’pﬂd vode

(1) Fcos.0.~ mg sin 0 (2) F sin 0 + mg cos 0
(3 F sin @ — mg cos O (4) Fcos 0+ mgsin 0

Rough Work
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92. A hody of 200 g begins (o fall from s height where its potential energy is 80 J. Its velocity
st a point where kinetic and potential energies are equal is

(1) 1048 m/s (2) 4 m/s (3) 400 nvs (4) 20 my/s

80 %8x 430 4OA ady 200g (S5g00¥ Ho o8 SH 8 I& Scd Ddso
sEofoned, R8s 45 B0 Mbe fHo DHrIWWS Dokl 3¢ av Jisw

(1) 1048 i (2) 4 /= (3) 400 Do/ 4y 20 Do/%

93, A bullet moving with a velocity of 3042 nv/s is fired info ﬂﬁx-ad target. It penetrated into
the target o the extent of § meters. If the same hul!:t.i,_ﬂ-'lﬁ.‘r'éd into a target of thickness
'f' meters and of the same material with the same velacity, the bullet comes out of the target

with velocity
3042 &/ SH08" w5 S8 Ko .8 DEDIOEgEnS IE Do nBSB, ob ofgins'Dl

S Srdo TS Pondd. vB S8 Koodado, w1 :ﬁa-quﬂ' Sohwd -g—:'u.

23060 5ONS vEgod'Rl o8 Joh' ‘iﬁ&j‘iﬁgm#. ofgo 08 S8 ol nobes
S ydQds oD Fefdw "
(1) 1043 m/s (2) 20-ms (3) 30 ms @) 2043 mis

K ) | 1
94. Keeping the mass of carth as constant, if its radius is reduced to Ilh of its initial value,
then the period of revolution of earth about its own axis and passing through the centre, in
hours, is (Assume earth'to be a solid sphere and its initial period of rotation as 24 hrs)

#rdo (BEgo BBonr HoO, oD TEFYSHH TR FO dewdS’ %;5 S0

805, 6B s D Bo(So oo FHS) o) efo Jowd, grd Tk, (FHoerSES
Soln fobod® (ol PodAt¥o elaln SH0dn ol 80 FHarSEd sobdn
24 fobeos wdE Sidx)

(1) L5 (2) 12 (3) 3 (4) 6
‘__—__m
Rough Work
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98, Three uniform circular discs, cach of mass M and radius R are kept in contact with each
other us shown in the figure, Moment of inertia of the system sbout the axis AD 13

sood® Srhdts M (@500, R srggSs £OAS Jards H388 JyomsoR) SV
Ld Rl nES 30378 8 4058a5D. AB wiuvndom & ;&55.3 uddg Lqr-:’uﬁa

)

"
¥
oy o ol |l- -
R T
- .\
J‘l e
. > —"-;
g I ", o
F - l. .
oy ™ o k

B
(3) o MR N (4 ——

96, 1f a body 15 ::.ucmlng iirnplu haxmu:ﬁc- motion and its current displacement s 3 times
the amplitude frnm 1!5 mt:un position, then the ratio between potential energy and kinetic
energy is --_;‘

AT ﬁﬁ*ﬁ*é‘*ﬁxdﬂﬁn S HB) S5 o HReRd 20d, TR (D8 Tl (Fodss

5053, So5:8 "—;_- Be a3 d RBuAS, dendss du PEQE

A"‘:. »

'[n 3 £2)3: 52
‘(‘”- “"?*3 @ Jf3:2

f—ﬂ

Rough Work
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97. At a height H from the surface of the earth. the total encrgy of & satellite is equal o the
potential energy of & body of equal mass at a height of 3R from the swrface of earth.
(R = Radius of the earth), The value of H is

g and8odw 08 H I&s" fo o8 a8 A e Kooty Bodo 78, Yol adodoc

=

3308 3R 835t &%) HEMS |Bg0"R o SH) sy PIRTEE H5rS L. wbpds
H 928 (R= g0 avgdrg s |
4R

n % 2) R BYi ) 3R

e

Y8. A copper wire and a steel wire of the same length and sume eross-section are joined end
to end 1o form a composite wire, The composite wire mimug from a rigid support and a
load is suspended from the other end. If the 1n:rmcm1cugu| of the composite wire {s
Z#4 mm, then the increase in lengths of steel Ilmi':ﬂ]:lpﬁf wires ure
(Yoo = 10 * 10" N2, Y, = 2:x 10" Nimy 5
&8 263 510050 u¥ vl E'dhe uf oon B4 S0ty ok Do) 81 wLEohD BSE
HOES fodnd Socng 84 DEys S8, SeBodsudy B Wosy wl DSG 6y8 S8
UFIE0 5208 Sordbabnd, 51878 0S8 B8 ot Sorddabusso. & doaiar)
9K D35 vdhMde 2.4 :’n.ﬁr-;’inﬁ.}fﬁ hes, ovh 8o 8%t Bdtidom
(Yo, =104 10ON/m3, ¥, =2 < {00 N/m?)

(1) 04 mm, 2.0 mm A/ (3) 1.2 mm, 1.2 mm

G) 06mm. 18 mm ) (4) 0.8 mm, 1.6 mm

99. Under isothermal mnd!ﬁun, energy k is supplied to a soap bubble of surface tension o and
radius 1, to double the radius of the soap bubble. The value of E is
WA adiie ﬁﬁﬁaﬂﬁ". r a‘;ﬂ‘g’ﬂw 20n o ﬁuﬂdgrj o Doy wsgs Rl
TG PD) Do Fatuws E 43 68550 Dohndsa. E dens
(1) 12m% (2) 16nra (3) 24nc’e (4) S8ar’c

—— -—\_—
Rough Work
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100, The length of a steel rod is § cm more than that of 8 brass rod. If this difference in their
lengths is to remain the same at all emperatures, then the leogth of brass rod will be

(Cocflicient of lingar expansion for steel and Brass are 12 % 10°%PC and 18 * Hreme
respectively)

vd Heoo 84 Ty, SdH, w zdd 3 Tl ﬂ"d:'uﬁ::"lmﬁ“?u,b:. S8 5. BUY
adi(dée 8¢ ol FrdHo S8 H@d0 nod AoE5TIBY, A83 5§ A

(&g S0 ndde Bgsags’ s Mnrwddna I.Zh’m".’“ﬂ 536 oS 18 % 107°PC)
(1) 10 em (2) 20 em @ 15em O’ (@ Sem

101. A block of ice of mass 50 kg is sliding on a hQﬁZﬁﬂlﬂFim It starts with speed 5 m/s und
stops after moving through some distance. The mass of ice that has melted due to friction
between the block aind the surface is (Assuniing that no energy is lost and latent heat of
fusion of ice is 80 cul/g. J = 4.2 Jical) (- "

50 8., (S350 0 28 S0 By w8 § 8z DIroSY SoSu EdR OO,
wo 5957 568" aukodo Fud 6o S80% Sthard whSonod, By S0
Sou Hdgio Pguded [EDFIODN S0 (B3g0R (86 35 30 BdHssd0,
50080 (SOYSS Mot S 80 Fobdeu/(min, J=4.2 Jcuh

(1) 1.86g (3) 286 (3) 3.86 ¢ (4) 0.86 g

102, A Carnot mfngm!ﬁrﬂlm:tﬁ heat from water at 0°C and rejects it 1o room at 24.4°C. The
work required h}ﬂhﬁ--uﬁigmmr for every 1 ki of water converted into ice (latent heat of
ice = 336 kI/kg) {5
L8 w6y onaBeds 0°C 5§ 68y D8 $00 aFd) ({irod, UAC g A0S
Ay @pgiu00. wHFD0DS (33 kg HEB O(5RTLEE SO DD (B0
So0BSS Modig B0 =336 Kike)

(1) 244 X (2) 30 kJ (3) 336 kJ @) 112k
ﬁ e S
Rough Work
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103. Heat is supplied to a diatomic gas ar constant pressure. The mtio between heat éneepy
supplied and work done is (y for diatomic gas = 7/5)
DELETIN HE wf Hghddrnd ToluS 4R wodBRNT . wodTwindd
B ¥58 Sobadw SBS D8 e JBNE (BBFErmE BN y=T7/5)
(1) 2:5 ) 3:4 @) 2:1 (4;7;:

_— —— —

104. A closed pipe and an open pipe of same length produce 2 beats, whtn lhn} are set into

vibration mmultnm:nus]}' in their fundamental mode. If the length of the open pipe is halved,
and thut of closed pipe is doubled, and if they are vibrating in tha: {undamental mode, then

the number of beats produced is

aE 6P Ao Sohs Moo J0cis EODD AMPe. L:»qs:m bas* 28 sood’
Sobo® BRIPEs 2 DB jodTres SeodEdon, JLOR Moo a3l v Sududs
Sornd Mgo rdd DgodH dahnd, s @'ﬁmﬁ ﬂﬂﬁ" Lodlo ARsdydds,
doryds vond IJjoddre Dowg |

(1) 8 i A2Y A _.(3'@:@;‘-_1,# 4) 2

105, A concave lens of focal length fr.rnm an mmgﬁ which is ; times the size of the object.

T'hen. the distance of object from lha Iﬂw 18

P grgoddsdn S0AS wd i'm:-rﬁ'; S080 nE T/HI TR VOIrE R =-i‘i wod)

I (P8Dordy Dﬂzﬁaﬁ:ﬁ& i'ﬁa&d: ELEC G40 Se0d S0 ddo |
(1) 32¢ {‘*} 2 f 3) f (4) 213 ¢

106, An astronomical telam:npe ammged for normal adjustment has & magnification of 6. If the
length of the l:tt:smpv: 1535 em, then the focal lengths of objective and eye piece respectively
are

LEph's drcidﬂ,;li} D Sgerendt S0 DDPE> 0% WSED T8 30 6. ErESEHD
S03) 35 em wowd, Ss Sb¥o Hidan vl b5 a‘u‘guﬁwm odnn

(1) 30 em, 6 ¢cm (2) 30 ¢cm, 5 cm

(3) 5 cm, 30 cm (4) 40 cm, 5 cm
B —— —_— ——
Rough Work

AM 2014 B 43 R



107, In Young double-slit interference experiment using two coherent waves af different amplitudes,
the Intensity satio between bnght and dark fringes is 3, Then the value of the ratio of
amplitudes of the waves that nm'-':: there is

STg8 dond DiBSw E0AS Bodk Sond ddomos HaTRod ol mob
WOE (RTrfo aror 06 ;‘:sﬂﬂdm :i}‘;i'rc:-d‘ dJEEu.:-Lﬁa i 0 U -:.5..-55'";5 i!‘u
w08 8|38 DH 8 3 WONN D PBI w54 w0 8dume !a‘éﬁ ﬁbhﬁ:ﬂ NE a8 Dol

(1) 1:43 @ | Ao &) | BalY @ B

—~ ' ‘:}Eil'l'.'-lﬁ-ﬂf radius K with a charge

108, Workdone in carrying an electric charge Q, once
Q, ut the centre of the circle is

o0 24 Q, uS 130 YOS uE Rmﬁﬁgﬁm ﬁu a;mmﬁm Jowd Q, uddiude
LE8 Soby BMETD SIHHS wOAS '.'a;;l

QQ,

Qﬂz:ﬁ =)
‘ (3) = (4) ane, R2

(1) 0 2) ine, R
B\

e

109, The capacitance of two mmeﬁlﬂna sphr.-ncnl shells of radii R, and R, (R, = Ry)is
R, S:bdis R, (R;> le mg.‘aﬂﬁaa:m gon 0¢ dobch Rlysd S 850e Tl

ﬂ‘dfﬂﬁa A :t_---,I_..
(1) 4ne, R, / | (2) 4ne R,

R, ~R{%)” R R
) 4“%%3%‘-"; @ SRR,

L _,:'

110. A wire of r:iastun:t 4 0 Is stretched to twice its migmnl Jength. In the process of stretching,
its m':nﬂf cross section gets halved. Now, the resistance of the wire 1s

ums*am fo ug Bd o) £0 S EHSE DYoH PEH) wiSL FASaHEHIO.
Srvnbabdu bod, B:ggd 8 Brogoe Pho worss. Rdpds, 8 8 H6'ESW
(1) 40 2) 80 (3) 160 4 10

_—__——_
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111, If in an amplitude modulated wave, the maximum amplitude is 10 Volts and the modulation
index is 2/3, then the minimum amplitude i3 (in Volts)

2§ dfod H0MB SrdgBas ddodod®, 0D Sowmd LOWE 10 Ty SO
SragBaS S0 23 wond €09 Fodd Ho0Ma Devd (Fgeudh)
(1) 2 (2) 7 (3) 9 ) 6

112. The truth tables of logic gates (A, B, C, D) are given here. Idﬁnlify_“"*t}urn correctly
$8; orgoro W) Jx B (A, B,C,D)S* adgngron, 83 S0 K8 Hhsn

(A) Input Output (B | loput *Qﬁiput
A B Y A B Y
0o | of o 0, 0] 0
0o | 1| [N
1 0 ! Ty 0 0
1 I | ML A 1
(C) Input | Output (D) [ Tnput | Output
A Bl » ¥ AL MA [ B ¥
0 0 ! 0 0 i
0 I 0 0 i |
1 0 0 1 0 1
1 1] o > I 1| o
(1) (A)— OR o (2) (A) — OR
(B) — NOR Nl (B) — AND
(C) — NAND (C) — NOR
(D) — AND ) (D) — NAND .
(3) (A)~—OR (4) (A) —AND
(B) —NOR (B) — OR
(C) —AND (C) — NAND
(D)~ NAND (D) — NOR
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113. For the nction of & CE transistor, (E = emiter, B = base, C = collector) the required CB,
EB junction bias conditions are
(1) EB junction — reverse bias
CH junction — forward' bias
(2} Both EB und CH junctions — forwird bias
(3) Both EB and CB junctions — reverse bias
(4) EB junction — forward bias
CB junction — reverse bias |
L¥ CE-|&°0y2 B L!uﬂrhﬁ Fat (E=agda, Hnurrﬂﬁ ﬂnhgnm sraehn CB,
EB Sod:o u-:ﬂru!%:ﬁam % O
(1) EB Bod - Eﬁ‘uau : J
CB %08 - 540 NN
(2) EB S:0wx CB Sodios Tods - -.';gs*:fa‘;_u
(3) EB 3:8¢8» CB Hogheos Bode - BE*-!T!‘E&

(4) EB H0Q - E'980

CB %o - 85450 A~
£

114. The nuclesr fusion reaction hﬂmn Jeufunum and titrium 1akes place
(1) ot ordinary temperature and’ pmsm
(2) = low lemperature and idw“m'ﬁmu
(3) at very high t:mpcmtu:e mﬂ very high pressure
(4) when the t:mpd:mm Ls near absolute zero
A0 85 a0 uko BOB:Ss 2383 Fod HobSo &g 0T
() ISrdgDoa agﬁ_ﬁﬁ S0din HEdswo B¢
(2) S5y ﬁgig Ad Sodis smy s basdue 3¢
{3} Sre e & IS 80 wd A6y baSIne 5§
(4) ag',_ﬂ& Hoddrdg e B¢ 8 HE:

115, If the mm:lmlh of light that is emitted from Hydrogen atom when an electron falls from
orbit 12 to orbit n = 1 is 122 am, then minimum wavelength of the series is

4 :}ug-,ﬁ n=2 ££g 5308 n=| KLS'E BASTPE An(E'eS BEErwY 08
4G 080d s7od d00dBd gdw 1220m wond, & (dd® SRGST0AB Y g0

(1) 40s A (2) 9150 A (3) 812 A (4) 915 A
Rough Werk
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116. When monochromatic light falls on a photosensitive material, the number of photoelectrons
emitted per second is n and their maximum kinetic energy is K__ . IT the intensity of
incident light is doubled, then

(1) bothnand K__ are h_n]vcd

(2) nis doubled but K_ = remains same

(3) K .. 15 doubled but n remains same

(4) both o and K_ . arc doubled

8 W85 708 28 PO Mgy (Y Dorgo Dol SBSD P DEBH 1 PE° Jupatie:
Swhdieron. o8 A0Q ABudi K . 28 Sg5m0d Ty 83s BLoY TR, wdypds
(1) nS:8cin K Bodods HHS» ehd:

(2) n Yoy ey 50 Ko S8y D88,

(3) Kw‘ﬂga:‘;} @ 5*R n ﬁw&a-ﬂudﬁd‘--» -

(4) n S8csn K Bodsds BeoR) e

117, A plane electromagnetic wave travels in fréc space. Then the ratio of the magnitudes of
clectric and magnetic fields at a point is equal to

(1) Encrgy of electromagnetic wave

(2} Inverse of the velocity of theeigﬂmmngnm: wave

(3) Inverse of the energy of ._;]mubmﬁgn:ti: wave

(4) Velocity of :Il:ctrumﬂgmﬂc wave

a8 Ddde JBog 8 nﬂﬁa%uﬁ d8oK0 bé;ué“ (B ND)0. of Do el
28358 S:00k waimod § (oo S0Srwre dd 8 '

(1) D55 wabayos Soofo TSy, 188" H3mso

(2) LA upﬁﬂ*}ﬁﬁ d0ofdo @ng) Fo IS*S08* LirS0

(3) s8 wahdy08 SsofMo o) 7§ Dé*%08 HSrSo

() Vg8 wosHdn 08 S8oro Ty Fos® SSrdo

——
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118. An alternating emf given by equation E = 300 sin [(100 m)t] volt is applied to a resistance
100 ohms. The rms current through the circuit is (in Amperes)
E = 300 sin [(100 w)1] S‘u:m oN AEino ogo rIgEAS 2radd Ddgayos
ol 100 &50ye :}E"r;i:':::-"b (2TrAoSBsess. u dochod® (3Wrodsiiy ¢
ﬁ:tﬁsﬁ: 3¢ oo -'.1'1:5;.-55 Lﬁlﬂ‘ﬁ"‘ﬁ] (rms) Doed (Srovad:bodh)

Clbv ® Ir O 75 o

119. The magnetic susceptibility of a material of a rod is Zﬂ.-iﬁg-&i;ﬁhiiity of vacuum () is
dr = 1077 H m™', Absolute permeability of the mnmaalqtm rod is
wf €8 Tl wohidpod SBROOY 209 inSga Tuey 50305008 ()
dn % 107 Hm™'. woxnd, §é Dodnds 'ﬁw{ﬁ) SE5D6 D0
(1) 3771 10°*Hm™ @) 37 =107 Ha!
(3) 3771 % 10 Hm™ Y @ 370100 Hm!

120. A paramagnetic saumple ihow;.a,_-iﬁﬂ‘inngnﬂizaﬁnn of 0.8 A/m, when placed in an external
magnetic field of strcnglh‘ﬂfﬂ'Jf'eﬁi a temperature 5 K. When the same sample is placed in
an external magnetic ﬁeld ﬁf"ﬂ 4 T at a temperature of 20 K, the magnetization is

wg &8 uﬁaﬂ'ﬁnd ﬁa-i:ﬁ::&: aving voHhdm o8 FEdn weo 0. §TS" ag¥ds 5K
56 ﬁuﬂﬁﬁyﬁa Wb Srh H08 wohdodidesn Dol 08 A/m. 8T S°gd)
A K 20 K aing w0l § 180000 04T s0dia pd ol a0 858ndn

(1) 0.1 Am‘ (2) 0.8 Am™ (3) 0.8 Am™ (4) 0.1 Am

#
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CHEMISTRY

121. The mole fraction of water in 98% (w/w) H,50, salution is
98% (w/w) H,50, [ordmod® N8 308 grio
(1) 0.02 (2) 0.1 (3) 0.9 (4) 0.8

122, The reduction potential of hydrogen electrode at pH 10 is
pH 10 58 7 (@S Jof' 98 £ai¥dn 480
(1) 0OV (2) <0.059V
(3) 059V (4) 0.539V (57

123. The half-life of a first order reaction is 100 seconds at 280 K. If the temperature coefficiem
is 3.0, Its rate constant at 290 K in s°! is
w8 (B ires Y wy Sdgsmoo 280K 340100 DES. aFiierdnso 3.0 sond,
20K 58 & S8z Db Hovoto 57! o8t
(1) 693 x 107° ~(2) 2,08 % 107
(3) 2.08 x 107 (4) 693 x 107

124. Which one of the following forms a negatively charged sol ?
(ol o8 nuerFY SIS Y58 V87
(1) Cds | (2) ALO;x H,0
(3) Cr,0,x H,0 4) TiO,

125. Which one of the following methods is used in the concentration of sulphide ore ?

(1) Leaching (2) Froth floatation
(3) Smelting (4) Ronsting
Bob Sgfost BRD 9P 38 528 pero o d58no’ 6STINNE?
(1) D ¥so (2) 2885 D8adh
(3) BrAoesc #) Fgla
BN i ——
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126. The correet arrungement of following acids of phosphorus in the increasing order of oxidation
state’ of phosphorus 18

(1) pyrophosphonie acid < orthophosphorous aeid < hypophosphorous acid
(2) hypophosphorous acid < orthophosphorous acd < pyrophosphoric acid
(3) hypophosphorous acid < pyrophosphoric acid < unhuphuﬁphnmm acid
(4) pyrophosphoric acid < hypophosphorous acid < unhﬂphuﬂphﬂmus neid
god a‘;l*faaﬁp: wdrodt .",'.5*.:;35-:- oE\BAS 28 0T ﬁ-ﬂﬁdﬁ (ESs0

(1) DEFANIE w50 < uF'PDa80 s < .:'-3!;3'535.: &S0
(2) ZPBy8h asio < ug‘a-r 368 mdo < *iﬁﬁ‘#@ﬂ")ﬂﬁ' G520
(3) ‘h'ﬂ’é':h;,ﬁm G300 < ﬂﬁ‘é*ﬂ‘;&g w0 fﬂ*g’é'm;ﬁﬁ @S0
(4) ".‘:-’5"“'-3‘3#5' 8o < mﬁ‘é‘ﬁ;ﬁﬁ uﬁ:&*ﬁ» ﬁg‘#‘fa;}ﬁm 850

-1‘;

127. Among the following inert gas clements, thﬁ ﬁ‘hfmml‘. that shows highest chemical reactivity
is

Bod ad) 3o I din Swrosted uégnﬁ *du'sﬁuﬁm PE0oshds
(1) Xe LAY (@) Ne

(3) At ST

128. Crystal ficld theory does :mt t:xplnm which of the following property of coordination
compounds 7

Nt | --"['

(1) structure of :n-urdmntmn ﬁﬂmpuunda
(2) the covalent ﬂhmm:r pf the bond between metal and the ligand
(3) magnetic prupcrly
(4) colowr
288 3 (8 .,aég-’&aa ergor BSasgass By Ee D Sorgdy ISBoSBEe
(1) ﬁﬁeéﬁﬁﬁ: E'ﬂ:&#:‘u Dov) even
(2) z’i‘,‘ﬁ Srobe HGghie vogo Eug) PRTIBIC BB
(3) uﬂﬁﬁ*&uﬁ g0
(4) Gois
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129. In |CoF, J*, Co’* uses outer d orbitals (4d) in sp*d® hybridisation. The number of unpaired

electrons present in complex ion is

[Cul’ﬁlj"f‘ Co’* wrire d HCIIJL'-F#J (4d)iss Hpidl S0€880mods* DNTII N oMoS.
p08s wdirSs' 408 Lokl dugTINe Bopg

(1) 3 (2) 0

3) 4 (4) 2

130. ldentify from the following, the monomers which undergo s:updmmunn polymerisation
(508 8035508 DoPRd ORI asnss St sk aﬁﬂtﬁzgﬁa f38 oS
I, H,C-CH-CH=CH, >
O,H
2 [ O

CO,H
3. H,C~CHC

NH L e,

5. F,C=CF,

6. (H,C),C~CH, =

(1) 2.4 | @ 3,5

(3 1.3 | 4 1.6
— T ——————————————————ee S
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131. Which one of the following sets of vitamins is fat soluble 7

t_&ad‘;‘; DhnE Hisdiadst 08 ﬂ*nﬁjﬁd" 85883087

(1) D, B, B, E

(3) A.D,E.K

‘2] {-:I nl‘ Bﬁi BI:

(#) A. D, B, By,

132. Muatch the following
List-1
(A) Sucralose
(B) lodine
(C) Sodium benzoate
(D) Ranitidine

()
(1)
(11)

Liat-ll 4
Antioxidant |~

T i
;- -

Antificial swéstener
Aftid,)

(IV) Antiseptic

) Fepd srceevai
EobTED w8588
(A) BoEs*E /s airod wlyEod
(B) woinaS D gyem bbessss
(C) Tacso Tos'ché 2l crowrhs
(D) DAES 1V) clrod®RbE
(V) o0 dorgo Hodgdd
The correct answer lﬁ
2l HOTHE BITPII®
(A) (B (©) @
1 @y @ am av)
() an/ Qv @
@) (V) (V) ()
@ an  am v M
Rough Work 5 -
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133. What is the name of the following reaction ?
~val

CH,CH,CH,Br » CH,CH,CH,|

dry acetone
(1) Swarts Reaction - (2) Sandmeyer Reaction
(3) Gatrerman Reaction (4) Finkelstein Reaction
(Bos Sdg DI N2

Naol

CH,CH,CH,Br » CH,CH,CH,|
8 I%ET -

(1) >g&y Sdg (2) SoBMavE wag
{3} mabSro ﬂsﬁa (4) ?,;5;5'%5 ﬁd’a

134y N2 x Conc. HSO.413K

"ﬁ"ll-l: are X and Y in the above reactions ?

md HS0, 413K e
Y X ‘ﬁ SO, 5 {CiHs}gQ N ,
RSdrod® X Sodoke Yoo o2 /0

X Y
(1) C;H.OH C,H,ONa ™~
(2) H,COH H,CONa.
(3) C, H,OH 43’0143
(4) C,H,OH C’ H ONa

» (C,H),0

135, Which one of the l‘nllﬁwmg methods can be used to separate a mixture of arrﬁu- and para-
nitrophenols ?

(1) Steam distillation (2) Crystallization
(3) Solubility”. (4) Sublimation
98 Sa8aks o BEtbardo DFEnd) O Sgat T TawBSsyRe7
(1) 2o Ry egdSo (2) K};}ﬂgﬁﬁu
0) (rsdass (4) 838550
R Work
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Acetaldehyde undergoes reaction in the presence of dil. NaOH to give
(1) 3-Hydroxy bumanal (2) Ethyl scctate

(3) Butanvic scid (4) Acetic acid
A% Seo NaOH 585508 S8g570d S =y,
(1) 3-Zvarsy wmgead (2) =@ AT
(3) m;bﬁ*m! @$30 (4) JH8E ué:gg h

137.

Identify the compounds from the following which form pnmyy amines under suituble
reduction conditions

Sob oSt HOTRN galiEdn ﬁu‘%ﬁeuﬁ' aji'ub -ﬁ%ﬁu‘.‘h 2830 HEREw
w7

I C,HNC 2., LH

3. C,H,CONH, 4. C,,H NO,

(1) 2,3.4 (2) 1,4 L«m 3,4 #) 1,34
-;!."aF"

138,

Assertion (A) ¢+ ALl =0 fora r:m:s!hh. ns ‘well as irreversible expansion of an ideal gas
under isothermal mdmmﬁ whereas AS, ., # 0 for an irreversible process.

Reason (R) : AUls hdcpﬂﬂmtﬂhﬂwim whereas AS is proportional to temperature.
The correct answer 15 /

(1) (A) and (R) are correct, {R}l& not the comrect explanation of (A).

(2) (A) is correct, but (R } Il nul correct.

(3) (A) is not correct, l:m (ﬂ.} s correct.

(4) (A) and (R) are #m#‘t. (R) is the correct explanation of (A).

DR3855 (A) ¢ GEGy o ogsued’, STrg (BPWYt wdy dak S0y
_ wiadyy Skl (8008 AU =0, 2 -manﬁadm (B85

‘ m*“
S O {H‘.} .-.'1[.! SHASD werdddds ) AS SN AIH w5at Srdadrdo.

28 %0 Eﬂm ::»:5:-:;*:5:;
(1) {M .».,.:m:ﬂ:: (R) e SO0THID, (A)% (R) BT 88e 5760,
(2) f&)ﬁa_‘ﬁ}aaa D (R) H0THI8 s,
(3) (A)2aTRAe 5, 577 (R) 0 THRG,
(4) (A) o808 (R) v H8T1ID, (A)S (R) 0TS Isse.

Rough Work
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139, When 0.1 moles of N,O, (g) was placed in & 1.0 litre (lask at 400 K and closed, the
following equilibrium s reached with a toral pressure of 6 bar.

N G y 2NO,
lﬂJ (%)
Assuming ideal behaviour qf the gases, the partial pressure of N D‘{gj at equilibrium in bar

is (R = 0,083 bar L mol™ K™')

1.0 568 8" 0.1 Brdo NyOy(a 1% 400K 58 4o dnjddo {m-hﬁnﬁan' Sxuda
Ld555 obar fo (Sob DDA :}ﬁbdnﬂ .

N,0, s 2NO,
(&) &35

wsdy) suimHosm o, berhe 38 N,Oy@) a-r,g;‘ hﬂ:&a baro&*
(R =0.083 bur L mol™" K™) ~
(1) 2.8 (2) 3.32 {3) ____g.;z (4) 0.64

I l'—"'\-., 2

i
i

lmnmmmd solution of Ca,(PO,), cottains 2.0 Iﬂ" M uf' Ca®* and 1.6 # 103 Mof PO >
&t a certain temperature, The solubility prn-cluci (hgpj of Cay(PO,), at that temperature is

RERQ G 2SS HE adgudd CHB{PD,,},‘SW#;.& S ads, 20x107*MCa™" Sodcde
16%10°M | PO £8A 408. wB 4FYES IS oD nScddoher ogo. K,

1) 800 > 107 (2) zms X Hﬁ‘ (3) 2.048 x 1077 (4) s,zu x 10

Hl In which of the following rnm:l.mm, H.tﬂ acts as a reducing reagent ?
(Bod Sdsodt, DS Hzﬂiﬁﬁ#!ﬁn sdfomr SRAESRnD?

(1) PbS(s) + 4H Gz(nq} Z, PbSO,(s) + 4H,00)
PbS(92) *4HI{},,{E-::J R, PbSO (D + 4H,0((&)

2) HOCI + HD L, H0" + O + 0,

(3). Mn** +pml _OH" | Mn* + 20K

(4) 2P + 1,0, _OH" | 2F3* + 201

‘ Rough Work
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142. The decreasing order of hydration cnthalpies of alkaline earth metal iong is
585588 &' wulrSe Al B .::::qs*ﬂ:]u: 87 [Fdoo
(1) Be™ > Mg** > Ca®* > §12* > Ba® (2) Be*” > Ba’ > Mg™ > Cg** > §2°
(3) Ba®" > Sr*" > Ca?* > Mg** > Be® (4) Be* > Ca?* > 82" Mg’ = Ba?*

143. The correct increasing order of the stability of Al Ga®, In', ¥i” fons is
Y

Al',Ga',In", TI", edSorSe 20820 DO HOTIS e

“} TN < Al" < Gadh < In’ {2} X1t _c ﬁn‘f TF < In*

(3) Al*<Ga® < In* <11 @ TS0 < Ga* < Al

‘e, - J.

144. Which of the following is used as lack pigment i black ink ?

(1) coke (2) carbon black {3) “ germanium (4) graphite
(Bed aS* AID 300 bodt Lo 5:39\5"1::: TEIE 57
(1) 5'S (2) 565 &%/ () BEObe @) (s

145. Which one of the following s:mmntnbun: to the global warming ?
Bod dwded® gra‘do Faswrnt s so Fha dar

(1) H,, NO,, SO, (2) 50,.$0,. 0,

. ,.f'.

() Ny CH, 80, ) (4) CO,, CH,, CFCs(os )

T —=—in

146. In the estimation of jmit@gm. 0.18 g of an organic compound gave 0.12 g of silver bromide
What is the percentage of bromine in the compound ? (Molar mass of AgBr = 188; Atomic
weight of Br = ﬁ!)] I
TSt q@ﬁﬁﬂh;ﬁﬁ;}:ﬁ. 0.18go &8 §8)% ST ¢So 0.12ge nosl 5 6 S
20308, 3T ¢506' (B*D:5 Erse Jos? (Agbr eos |SSgos = IR
Br d3rm0 orddn = 80)

(1) 30.64 (2) 3524 (3) 24.84 (4) 28.36
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147. C=H and C-C bond lengths (in pm) in ethane are
S1IB56'D C-H 330050 C—C nod Bgsen (pmodh)
(1) 100,154 (2) 133,154 (3) 1i0, 136 (4) 112,154

148. What are Y and Z in the following reaction sequence 7

NaNH, Heg"/H*

CH, = CHBr > Y H.0; 37 K -5 7
Y L
(1) ethane ethanol
(2) ethync’ acetic acid
(3) ethyne ethanal

(4) ethylamine ethanal
[BoB SovgE508* Y $:80850 Z oo Da 7!

CH, = CHRr N, S Y - :E;?;} =7 Z
Y Z
(1) &FS wESS
(2) &BS el ﬁ%gﬁm
(3) &&5 s

4) =8 20,5 afyd)

[ - W

149, The percentages of voud-space for simple cubic, body centred cubic and hexagonal close
packed arrangements respectively are
WO¥ 2330, wodiHo|d8 Sodo H0am 265 dah By Erdyost b 5dy
T80 SS85m

(1) 32,48 26 (2) 48.32, 26 (3) 48,26, 32 (4) 26,48, 32
._-__-—'————_ e —————ee —
Rough Work
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150. van't Hofl factor, i, of u 0.5% (w/w) aqueous solution of KCI which freezes ut —0.247C 15
(K, of water = 1.86 K kg mol™, Mol. wt. of KCI = 74.5)

0.5% (Wiw) KCI e [rdmo —024°C 3¢ $:0¢ds0 Bodd ard aretry (van't Hofb)
dommdo, i

(W8 K =186K kg mol™!, KCl msszrdo = 74.5)
(1) 132 (2) 1.52 3) 232 /A (4) 1.92

151. The wavelength in metres, of an object of mass 1.0/ “g mn\rmg with a velocity of
1.0 % 10" em s7' is (h = 6.626 = 107 Js5) N

1.0x10'cms™! Ffos* HabRod, 1.0g (SHgo8 e ﬁi’:ﬁg Tk SGoKBYgo weYest
(h=6.626 » 107" Is)

(1) 6626 % 1077 2) 6626 x 10°%
© (3) 6.626 = 107 U 4) 6.626 x 1077

152. The ratio of ground state energy of LiZ", He' and H is
Lit*, He' $:005e Ho #0538 #5 Desle D233
(1y 9:4;] &) 12223
(3) 3:2.¢1 _ (4) 1:4:9 |

153. Elements A, B and C belong to the same period in the long form of the perindic table.
nature of the oxides of A, B and C is amphoteric, basic and acidic respectively. The co
order of the ntpmid aumbers of these elements is
A B C Sarose, 2838 0583 SPES" 3 DOoHED Bos000032. A B.C Swrose
uBydo fagt;‘ﬁ:'m Sdaadm bsﬁsu*ﬁu.g'ﬂﬁsu‘uu. TR G Sorore DS
Sowgo HO TS g0
(1) B>A>C (2 C>B>A
(3) C>A>B 4 A>B>C
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154, Which one of the following is the correct order of the size of the ions 7
ol wairno ward 800 [Firast D POTHIA?
(1) 0" >F >Mg" >Na" . (2) Na*> Mg? > F > o7 :
{(3) 0 > F > Na'> Mg (@) Mg** > Na'> F > 0

J_ﬂ
i, =)

i_ﬁs. If E = the number of lone pairs of electrons on Xe,

B = the cumber of bonding pairs of electrons,

S = shape of the molecule,
then, what is the correct set of E, B and 8 of XeF, ‘? N/ |
E=Xe 23 5d) 20008 Jogs5 mobe ‘::apg,z B
B=n0g Josyi mobo vowg, NV

-'.|' Mg el
e 1 i,

S=um uf)a. NG
wond, XeF % E B, So 50308 %8 267/
E B S N

(1) 4 2 square planar (3 ﬁaﬂ%ﬁﬁéﬁm
@) 3 3 ocubedrl @HPEE

(3) 3 3 square planar t,ﬁ {1& L'.f: Diddo)
4) 2 4  square plnnar (ﬁﬁﬁ (A BSsw)

Rough Work '__"‘__"
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156.1n 2 molecule, the formal charges of oxygen atoms 1, 2, 3 arc respectively

3
o l,__‘_‘

{-IJ -l+ [-L +1 {IJ “l‘ -]I+]
(3) 0, +1, -1 @) 11,04

157.1f 240 mL of o gas X diffuses through a porous mtmbrancm 20 min whereas the same
volume of methane diffuses in 10 min at the same Imtpmtun and pressure, the molar mass
in g mol™" of gas X is , '
& B8 S 8508 240mle X Fralud) a-g’::ﬁﬁ Dodw 20D, Sc0uln wd adt|id,
Lddo $¢ od 8B0Er o o :1;.7:155 w;ﬁ:ra BodsdH 10.0. 944, X ol
Srol (Edg000 gmollos® ‘g
(1) 128 N
(3) 64 CNE 4 32

158. The rms speed of h:liu:;:,iﬁ e} (atomic mase = 410 g mol™') ar 400 K is
WOK 5¢ bnDaSso (S Srm0 8o =4.0gmol™!y rms Edo ms s

(1) 1580 | (2) 158
I TS (4) 158
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159,

In & closed vessel. 5 moles of Aylg) and 7 moles of B,(g) we reacted in the following
manner
Ala) 3B,(g) —> 2AB,(R).
What is the 1ol numbet of moles-of gases present i1 the container at the end of the reaction 7
8 Do iod SSEN 'S 3Indo Ao T 2rdo Byiemes (Bod Djam -Sbsij‘ SRR
At B, @) —r 2AB(@).
S5 apgond S MES'D Awgo SeuDHo arde Bopy 087

g ) 3 AU~ 14

160,

Observe the following r:m:unn
INO,(g) + 20H(aq) - NO3(@q) * Hﬂ;{aq} $ H,G{ﬂ
In this reaction,
(1) NO.(g) is reduced to NO;(ag) and i}mdlztd to NO-(aq)
(2) OH" is oxidized to H,0
(3) OH is reduced 1o H D
(4) NO.(g) is reduced to Nﬂ‘{aﬁﬁ m:l oxidized to NO3(aq)
Brtad Soriid SEghe HOROONIEY
INO (o) + 20H (=e) —rHU'lcam +NO(=o) +H,0 (8)
&1 S85 "
(1) NOS. H%{au:m g oisdmo, NO(uo)m Hialﬁmn DobIb
(2) OH, uzn&- wi)somo DodHO :
(3) OH, I-ljﬂ W gohgdmo DabIs
(4) Hﬂﬂ]. NO(meyT Eohidnc, NOj(z o) uiysdmo DodSs

___._.___—-—-—'——"__—_— ————————————————
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CODES

81

82

83

84
85

86
87

88

89
20

21

02

93

24
95

96

97

98

929

140

149

151

160

CODES

1

1&4

2

1&2

283 | 4

3&4 | 2

4

Q.No.

10

11

12
13
14
15
16
17
18
19
20
21

22
23

24
25
26
27
28
29
30
31

32
33

34
35
36

37
38
39
40

41

42

43

44
45

46
47

48

49

50
51

52
53

54
55
56
57
58
59
60

61

62

63

64
65

66

67

68

69

70
71

72
73

74
75
76
77
78
79
80
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